024E 5 20laF LetelH SN ~ ALY

A SXNEH
M AurAlE=R XX
Celr SXAY JI26Ad =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 231,309,399 199,235,902 32,073,497
= 160,469,062
[ 4,499,989
= 17,954,009
Al 48,386,339
LEALRI S A =8 20,533,161 19,506,570 1,026,591
= 150,000
[ 3,402,678
= 2,246,693
Al 14,733,790
SXA J1=20iAd &4 6,437,258 5,739,101 698,157
= 150,000
= 3,402,678
= 974,745
Al 1,909,835
LS TIAIY =8 11,610 12,000 A30
201 fer= 3| 8,910 10,000 1,090
01 At 2|l 8,910 10,000 21,090
OSRAEAM M= 100, 0003 *20+90% 1,800
O=g2REIMN M=
12,0003 x2002*32] *90% 6,480
O =2 M 70,0002 *10IH*90% 630
203 HR=4AY] 2,700 2,000 700
03 A= PR F&| 2,700 2,000 700
OA =g = 3,000,000 *90% 2,700
KNS A=I SR D18 2= 6,600 7,560 2960
201 er=3| 360 600 A240
2 s323H| 360 600 2240
Ol =Xt SSHEAIAE SRS
30,0002~ 12 360
203 HR=AH] 5,400 6,000 2600
03 A= L2 FAIH| 5,400 6,000 2600
O=sAl2e sor & 2IabA =8
6,000, 0002 *90% 5,400
307 @I2t01 & 840 960 A120
0122 € =4 840 960 A120
O"lA Xt 2ot 44l 10,0002 *7 &+ 123] 840
NeAte| 28N 22 540,356 634,125 A93,769
307 glztol & 540,356 634,125 A93,769
02 LB HAHE L 45,768 57,210 A1,442
OXNS A2 2ZE M At 45,768
O3loH=238Hl & sHsE2AMEd Al
oS 45,768,000 45,768
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SINESES I}

HB: AuiAEI=N XA
Celr SXAY JI26Ad =4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
03 QIZIEHXHE2GHIEX 150,588 146,915 3,673
OXNGASIEEEAN 2
150,588,000& 150,583
11 Al =SXAMEES 344,000 430,000 286,000
OSUE NIS=XAY X8
344,000,000& 344,000
HASE & WsH| AF = NA(ZL=sE) 9,880 13,789 A3,909
101 2124d| 9,481 13,789 A4,308
M IIRNZ2E2XsSEs 9,481 13,789 24,308
OMASE =310 SMUSsH MNF - 8=
K& 9,481
Oelz| 78,8802 x4 Z 27 L+ 1 8,520
Oo4tHEE %61
-=013 8,519,040& x4 . 5% 384
2HLEE 8,519,040& *3.545% 302
- E 302,000 *12.81% 39
-IEZE 8,519,040 *1.75% 150
—ATHEE 8,519,040& * 1% 86
201 Ler23H| 39 39
01 AtR2elt] 39 39
ONASE %3 -1 8MDSY| MY - F4
K& 39
OAREE & 7 99,750 *4H 39
AMaI=XES AtEFE 294,044 300,295 6,251
307 212+01™ 294,044 300,295 AB,251
02 QIZHAAAIHE X 16,000 19,700 A3,700
OAt=I=XEa 3l AL 16,000
O0tsELYE XA 8,000,000& 8,000
O=XICHAR CIH S 8,000,000& 8,000
03 QI HE2GHIEX 228,044 210,595 17,449
OAsIEXE2e 2 228,044,000& 228,044
11 Al =SXAMEES 50,000 70,000 220,000
ORIZIAIRI = XIAF S IHE AL 50,000
ORIZHALZI = XA &le|ate
30,000,000 30,000
OMII=XAIE SAR 25 W=
20,000,000 20,000
AMaI=XE2 AR 8,000 8,890 A8
T 1,600
Al 6,400
307 2I2+01™ 8,000 8,890 A8
T 1,600
Al 6,400
02 QB AAIEER 8,000 8,890 A890
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I UBIALSI= R FX
Celr SXAY JI26Ad =4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OMBISXIEOIE 29AY X
8,000,000 8,000
[ 1,600
Al 6,400
HFEA ABIEXIHE 9,500 15,000 5,500
307 Q101X 9,500 15,000 5,500
04 DIRIBHATAIR B X 9,500 15,000 5,500
OBZAl AtEI=XI 3 9,500,0008! 9,500
NEIEXHYBLL Self-care AL WS 13,300 19,000 A5,700
201 LEL2 Y| 13,300 19,000 A5,700
01 AR 2elt| 13,300 19,000 A5,700
OMI XN SRR self-care AHAZ WS
13,300,000 13,300
NBIEE SEXARN 300,000 0 300,000
2 150,000
[ 150,000
307 QI2t01 A 300,000 0 300,000
2 150,000
[ 150,000
02 RIZHHMAIAE T 300,000 0 300,000
OMNBIBHSHNADRA A Z&
300,000,000 300,000
= 150,000
= 150,000
Mol 7S XIZAF 94,000 94,000 0
[ 94,000
301 LPrE X2 94,000 94,000 0
[ 94,000
02 ABI2EHLE2(HAAS, TLH) 94,000 0 94,000
O=Y TIHoILHR =X
55,000,0002 56,000
[ 55,000
OBt TIHOI LR =X
39,000,0008! 39,000
s 39,000
XIS A HHIA EXANY 4,178,947 4,114,442 64,505
z 2,925,263
[ 626,842
Al 626,842
201 LBre | 37,000 37,000 0
2 25,900
[ 5,550
Al 5,550
01 AR 2telt| 33,000 33,000 0
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SINESES I}
2EHALRI S A =8

Celr SXAY JI26Ad =4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXIGAIZMHIA EXIAIY EE L AIRE
7 33,000,000& 33,000
= 23,100
= 4,950
Al 4,950
® =zl 4,000 4,000 0
ONAABIAEIA STAY SHD
4,000,000& 4,000
s 2,800
= 600
Al 600
308 AHXIHMSOIH 4,141,947 4,073,842 68,105
= 2,899,363
= 621,292
Al 621,292
13 BI |2 SUICHEHZ A E L EF AL 4,141,947 4,073,842 68,105
OXIGABIMBIA EXAY HZHIS 03
4,141,947 ,000& 4,141,947
= 2,899,363
= 621,292
Al 621,292
ZCY(0F3) 2% 289,000 289,000 0
307 212+01™ 289,000 289,000
11 AL =SXAMEES 289,000 289,000
OoFCY3 29 25,000,000 *7JH 2~ 175,000
OFE0I 2% 114,000,000 * 171 2 114,000
HUEDISAHL XA 182,021 225,000 A42,979
ax 127,415
& 27,303
Al 27,303
201 B2 AL 500 1,300 A800
= 350
& 75
Al 75
01 At22teld| 500 800 A300
OFEAOIBAHLXNZAE EE L AtR2t2/H|
500,000& 500
= 350
& 75
Al 75
308 AXIHMSOI & 181,521 222,900 A41,379
= 127,065
& 27,228
Al 27,228
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Celr SXAY JI26Ad =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 181,521 222,900 241,379
OFHNISAHSAN A HSHIE &S
181,521,000& 181,521
= 127,065
< 27,228
Al 27,228
MEALSIMHIA SXAY (L ASSAHIA) 500,000 0 500,000
= 350,000
[ 75,000
Al 75,000
201 er23 | 40,000 0 40,000
s 28,000
== 6,000
Al 6,000
01 Al 22|t 40,000 0 40,000
OMBABIHEIA STA(LNSEAEIA)
40,000,000 40,000
s 28,000
s 6,000
Al 6,000
308 XtXIEMSO0IE 460,000 0 460,000
= 322,000
=S 69,000
Al 69,000
13 S [2SOHe & EAS A 460,000 0 460,000
OMEAIBIAEIA SETA(LASZAHIA)
460,000,000 460,000
= 322,000
=S 69,000
Al 69,000
SXAIE D18 Ed 14,095,903 13,767,469 328,434
< 1,271,948
Al 12,823,955
ARISXAIE 2S XIS 8,100 9,000 A900
203 HR=H] 8,100 9,000 A900
03 A=A 2= 8,100 9,000 2900
OAt2=Al NFE 2=
9,000, 0002 *90% 8,100
ARISXIAL S Ed=¢ A2 1,680,000 1,499,400 180,600
307 212+01& 1,680,000 1,499,400 180,600
1 AMISXAIEEX 1,680,000 1,499,400 180,600
OAZIZEXIA S Hed=
70,0002 *2,000F 122 1,680,000
ARISXAL S M AS X2 50,000 0 50,000
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SINESES I}

M AurAlE=R XX
el SXAIE Jigtxy (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 50,000 50,000
11 AMEISXAEEES 50,000 50,000
OAMSXIAL & UMK
50,000,000& 50,000
ARISXAL S doli28s XI& 20,000 20,000
201 ger=3| 20,000 20,000
01 AtR2te|H] 20,000 20,000
OAMRI=AIAL & doli2E= X3
10,0002 %2,000& 20,000
ARISXIAIE SALA R+ K& 3,179,869 3,166,158 13,711
S 1,271,948
Al 1,907,921
307 elzto| & 3,179,869 3,166,158 13,711
= 1,271,948
Al 1,907,921
1 AMEISXAEEXS 3,179,869 3,166,158 13,711
OAISXIAIZSALL HRe=E
3, 179,869,000 3,179,869
s 1,271,948
Al 1,907,921
ABISXAIE ARISRY K (HEAY) 9,157,934 9,092,911 65,023
301 LELE NS 9,157,934 9,092,911 65,023
0 A=22as 9,157,934 9,002,911 65,023
OASIERIAIE ASIERQR =2
1,000,000 x620H * 122 7,440,000
OAISAIAIE AlRIS2R3 SAHI
7,000& 620 250! 1,085,000
OAISXIAIE AlRIS223 1SH|
3, 0003 620 x250! 465,000
OARISXIAIE AlRIS222 L=
309,840 #542H 167,934
=)t 28 &l € A& 11,169,314 9,986,606 1,182,708
[ 2,137,440
Al 9,031,874
Sk 0l ¥ A 11,068,031 9,840,486 1,217,545
= 2,137,440
Al 8,920,591
2edHd 2¢ # Ex 8,815,031 8,094,136 720,8%
301 EtE NS 8,162,400 7,024,800 1,137,600
03 A2 E A0 2 (XL THH) 8,162,400 7,024,800 1,137,600
OFHRSA U= X ANE?Z3 4,706,400
OF=fSE=lUIENS
130,000& %2,500F « 12& 4,040,400
OR=g0=g 100,0002 »480E « 12 576,000




S SXEBD

M 21 B 22| € X
ool 227 o9 ¥ SN (cre:xigl)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OARz2 300,000 x25H x 122 90,000
OSYSBN BEYN+Y
100,000 x80& x 128 96,000
O=ZIIBEEUAXN BENHRLE
80,000& *3,500& ~ 12& 3,360,000
307 212to| ™ 652,631 715,826 AB3,195
02 QIZFEBAMAIE X 430,311 497,564 AN67,253
ONYH U B SBX AZA
11,200,000& *23| 22,400
oOM0IZE =SXF 2 012X S4! XA
86,432,000& 86,432
OAM0IZH EX3Z A& 0|2 XISAIE
8,000,000& 8,000
03 =2E=22Y J|IEAY
127,459,000 127,459
ORAE =ZTHIIES At
3,360,000& 3,360
OA|IBl OFE DF AINE AL
4,000,000 4,000
ONEZERFES HFAXE AIH
16,080,000 16,080
ORS+=2X3 HFAIXE AIY
15, 120,000 15,120
ODNYMAERSE HFEAIXE ALY
14,560,000 14,560
ONS2AEDIUQCIT] HFAIXE AtH
16,080,000 16,080
OA0IZE3 HFAIKZ At
17,520,000& 17,520
OEYNMENIIS] HFEAIXS AIS
16,080,000& 16,080
06 - ENRZBAS HFAIXE AMS
16,080,000 16,080
OELUALRK 23| EFAIXE AIH
13,840,000& 13,840
O&=23| EFAIKX3 A 9,200,000 9,200
OFFAl HEZ015| At
13,200,000 13,200
OGN HMLRLE HEY MAEX =2l
15,450,000 15,450
OEHNENIIG HEY MEX =4
15,450,000 15,450
03 QIZIHXBHE2IHIE X 222,320 218,262 4,058
ONEZERES HFANXG 29
19,541,000 19,541

21,241,000 21,241




SA: =XEHL
M 2t 2 22l € XNE
SEEE S R ERRE L (cro: &g
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLHMNER HFAIXE 24
25,076,000& 25,076
Od==gd0IYels FF=AIXz 23
19,541,000 19,541
Od0I=2da EFAXZ 24
19,541,000& 19,541
OBLHFENE AN 2
23,076,000& 23,076
06 - BEER 3N FAXE 29
23,076,000 23,076
OS[BS XE HFAIKE 22
25,076,000 25,076
OZ=3 FFANz 2¢
23,076,000& 23,076
OFFAl Metzels 24
23,076,000& 23,076
SER3A =4l X 112,000 66,600 45,400
[ 33,600
Al 78,400
301 EtEE S 112,000 66,600 45,400
= 33,600
Al 78,400
03 A2 E A0 2 (XL THH) 112,000 66,600 45,400
O=sER3A 2=dl X&
112,000,000 112,000
= 33,600
Al 78,400
SRS =< X2AH 1,895,040 1,645,800 249,240
[ 1,895,040
301 EtE N = 1,895,040 1,645,800 249,240
= 1,895,040
03 AL 2 & A 263 (XL E) 1,895,040 1,645,800 249,240
OFHEFSA oll=& X2
60,0002 #2,632 122 1,895,040
= 1,895,040
dE2d | =g NFAL 172,080 0 172,080
== 172,080
301 EtE NS 172,080 0 172,080
== 172,080
03 A2 E A5 2 (XL THH) 172,080 0 172,080
ot=z2d 7= Hi=<
30,0002 x478Ex12& 172,080
= 172,080
SERSA S5 =2 N2AL 29,160 0 29,160
= 29,160
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ool 227 o9 ¥ SN (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 29,160 0 29,160
= 29,160
03 A 2H A =TS (XILTHH) 29,160 0 29,160
O=ERaA /5 SH+E
30,0002 +81H~12& 29,160
< 29,160
ST-YFRSA Sl XA 7,560 0 7,560
== 7,560
301 EtE N = 7,560 0 7,560
= 7,560
03 MBI B =262 (NL ) 7,560 0 7,560
OS+LSLTX Yol+Y
30,0002 x21H 128 7,560
= 7,560
Merzelol & AL 11,640 14,550 22,910
307 elztol & 11,640 14,550 22,910
04 QIZIHAIAIRH 2 & 11,640 14,550 22,910
OMgzZleld J|EA 11,640,000& 11,640
SEIIE B0tS st A 16,520 19,400 A3,880
307 elztol & 16,520 19,400 A3,880
04 CIZHHAMAMH 2 & 15,520 19,400 A3,880
OE &S B0tS SHEA
15,520,000 15,520
SEAE2 & 22 A X 111,283 146,120 N\34,837
SEAI 2] X ESHA XA 46,323 61,451 A15,128
101 e124d| 10,423 10,531 A108
M ORNZZ2NSE S 10,423 10,531 A108
OsEE(AtA) 22l 10,423
Os0 73,9503 x1H 0L« 12 7,987
O=Sxt& 29,5803 1H 6« 123 1,775
@ZN L-=y=: 661
-2 EE 9,762,000 *3.545% 347
-HIIeLEE 347,000 %12.81% 45
-1ELE 9,762,0003 *1.75% 171
~CHEE 9,762,000 * 1% B
201 fer= 3| 22,400 24,120 A1,720
01 At 2|l 10,440 11,600 1,160
Ot atet 200, 000 52| *4JH 2+90% 3,600
O==22Y 2ERSA ZEH
100,0003 x 10 *90% 900
OF&EE 22| & i 25 7Y
150,000 122| *90f% 1,620
Os=E =71 UAblSs
40,0002 * 1571 *52] *90% 2,700
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SH: =NEMY
M [0S HAS)
=Rl NASSE Jlgtxy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Agdy 23 850,651 811,208 39,443
= 595,456
Al 255,195
307 el2to| & 850,651 811,208 39,443
= 595,456
Al 255,19%
10 AlISAAZEE 22X 850,651 811,208 39,443
OHEXANEHE SHHI(BEH)
447,007,000& 447,007
= 312,905
Al 134,102
OBATNHTEHE SHHI(EES)
403,644,000& 403,644
= 282,551
Al 121,093
ALY 2dat =AY 40,000 40,000 0
s 16,000
Al 24,000
307 212+01& 40,000 40,000 0
[ 16,000
Al 24,000
02 IHB A HE L 40,000 40,000 0
OBENATEME ALY A ZTAI
H(HEEH) 20,000,000 20,000
= 8,000
Al 12,000
OFZXNSAAN2HEH NHEAIE Sdst FAA
H(HEE) 20,000,000& 20,000
== 8,000
Al 12,000
K22 A 5,831,765 5,568,482 313,283
= 5,293,588
== 176,453
Al 411,724
301 22N 380,000 400,000 /20,000
= 342,000
= 11,400
Al 26,600
01 Al EE A S(FRDEXMA) 380,000 400,000 /20,000
OXE2ZAIZHI (4 73)
380,000,000 380,000
= 342,000
= 11,400
Al 26,600
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Ma: 20| ZME as
=Rl NASSE Jlgtxy EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
307 212t01™ 5,501,765 5,168,482 333,283
= 4,951,588
== 165,053
Al 385,124
05 2ItRIE = 5,501,765 5,168,482 333,283
OXEZZAY BItI&
5,501,765,000& 5,501,765
= 4,951,588
== 165,053
Al 385,124
K& Abell2tel 31,477 30,709 768
s 22,034
Al 9,443
307 212t01™ 31,477 30,709 768
= 22,034
Al 9,443
10 MEISXAAIEHE2EHIE2X 31,477 30,709 768
OXtAtell2te| At 212i8] I
31,477,000 31,477
[ 22,034
Al 9,443
TAZHEEERIE ALY 331,515 297,614 33,901
s 232,061
s 49,727
Al 49,727
308 AXIHMSO0IA 331,515 297,614 33,901
[ 232,061
= 49,727
Al 49,727
183 S 2S0tetE 4R AS AL S| 331,515 297,614 33,901
QIARZHE &= K3 A
331,515,000 331,515
[ 232,061
= 49,727
Al 49,727
ZE2HIISRES 8,606,098 8,653,572 NAT 474
308 AXIHMSO0IA 8,606,098 8,653,572 NAT 474
07 XA EE2 8,606,098 8,653,572 N7 474
022580l AMHIRE=
8,606,098,000& 8,606,098
MASE I Bex, LAIIQAEEE K 234,000 234,000
301 LtENZ 234,000 234,000
02 MBI 2HHSFHS(HAANS, XLHE) 234,000 234,000
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Ofl &F2H

H
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CoIFIIRY
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234,000,000

234,000

o
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126,133,909
113,520,518
8,829,374
3,784,017

99,688,620

26,445,289

mhnoH

=

126,133,909
113,520,518
8,829,374
3,784,017

99,688,620

26,445,289

126, 133,909,000&

Mo

=

126,133,909
126,133,909
113,520,518
8,829,374
3,784,017

99,688,620

26,445,289

Mo

=

750,476
675,698
22,523
52,255

676,449

74,027

Mo

=

750,476
675,698
22,523
52,255

676,449

74,027

750,476,000

hoH

750,476
750,476
675,698
22,523
52,255

676,449

74,027

247,591

222,272

25,319
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247,591

222,272
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P
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¢
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cIE M
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5703 %2,5008 122

2,300

1,900

400
17,100

17,100

1,900

17,100

400
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e
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e
A

=
b

r
%

H

11,200
2,240

12,100
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A SAE M
M [0S HAS)
=Rl NASSE Jlgtxy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,960
301 EtE NS 11,200 12,100 2900
=S 2,240
Al 8,960
02 AR 2E A 452 (F . AISTHE) 11,200 12,100 2900
Ol 2,000,000 x2H 4,000
& 800
Al 3,200
og3z(&=) 800,000 +9H 7,200
= 1,440
Al 5,760
ZESH0 A= =242 €58 A 5,306,436 381,777 4,924,659
= 4,775,793
= 159,193
Al 371,450
307 el2to| & 5,306,436 381,777 4,924,659
= 4,775,793
< 169,193
Al 371,450
11 AMEISXAEEES 5,306,436 381,777 4,924,659
022520l Y= +INY 243 A
5,306,436,000& 5,306,436
= 4,775,793
< 169,193
Al 371,450
S& FHE 35,261,467 33,677,341 1,584,126
= 31,219,243
[ 2,495,262
Al 1,546,962
FA=2 34,507,160 32,908,889 1,598,271
= 31,006,443
== 2,415,502
Al 1,035,215
301 22N = 32,107,160 30,708,889 1,398,271
= 28,896,443
S 2,247,502
Al 963,215
01 Al EE A S(FRNEXMA) 32,107,160 30,708,889 1,398,271
(©FPNy=10] 32,107,160,000& 32,107,160
= 28,8%,443
= 2,247,502
Al 963,215
403 AXIEHMSA=Z0l1d 2,400,000 2,200,000 200,000




2A:

X XH -
o=

2 st
=@t MASE FAHLE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,160,000
=S 168,000
Al 72,000
02 S7I2S0 U H=E 2 EAIEI 2,400,000 2,200,000 200,000
(OESUEINI=10i 2,400,000,0002 2,400,000
= 2,160,000
= 168,000
Al 72,000
ZOHR! =EHZALS 83,600 83,600 0
= 41,800
= 29,260
Al 12,540
402 2IZtA=01d 83,600 83,600 0
= 41,800
= 29,260
Al 12,540
03 2I2+RAETAIS I 83,600 83,600 0
OFOHl F=EIHEALS 83,600,000& 83,600
= 41,800
< 29,260
Al 12,540
SN =AHNE AL 28,100 29,080 2980
201 Ler=23 | 26,400 25,080 1,320
01 Al 22| 26,400 25,080 1,320
onzE UgsieA LUz
2,200,000 123 26,400
406 JIEFAHZ01E 1,700 4,000 2,300
01 JIEFRH=01H 1,700 4,000 22,300
OH=8 LIgdt*A JHEES(HM)
500,000 x2< 1,000
OFF8 LEo2A LdUHEES(HLY)
700,000& *12] 700
FHEAME 29 361,823 612,622 A250,79
201 ZBt=Ehl 2,731 0 2,731
01 AtR2t2|HI 1,452 0 1,452
ORUTAZH| T ==
121,000~ 128 1,452
2 S5=2g4l 1,279 0 1,279
O=F=H=XHE AI2EHIF Xl
5,020 x283m" x00% 1,279
307 el2tol & 369,092 329,622 29,470
05 2I2tRIE =S 369,002 329,622 29,470
FASAHE 23| 359,092,000 369,092
20| SAMH 2 4,3% 8,210 A3,855




A SXNEH
Ma: 20| ZME Las
el MASS FHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 4,35 8,210 A3,855
01 At2teltl 4,355 8,210 A3,855
OHZIH M= 100, 000 *6IH*12]+90% 540
O+ M= 70,0002 *1JH+52] *90% 315
OWEI} 30| FHLY
100,000 7 & +53] 3,500
SOt F=HMHE XA 30,000 30,000
301 LEIE NS 30,000 30,000
03 AL 2 & A 263 (XL E) 30,000 30,000
Ostiiuloiots F=HMA X2
3,000,000 %10 30,000
FAHAFHAHE FHAE KA 200,000 0 200,000
= 100,000
= 40,000
Al 60,000
307 elzto| & 200,000 0 200,000
= 100,000
[ 40,000
Al 60,000
1 ABIS XA EE 200,000 0 200,000
ENFOUHE FHAS KA
200,000,000 200,000
= 100,000
< 40,000
Al 60,000
FH=X AHIA Z3t 4,429 4,940 AB511
201 er23| 4,429 4,940 AB511
01 At2teltl 4,429 4,940 A511
OArlE R 16,0002 * 100 12]x90% 1,440
O +=2 M 70,0003 *1JH*32] «90% 189
OFN=2Ee 4+
100,000 x10E 22| 2,000
O==EJ2 HHHAARS| A
100,000 x8E * 12 800
OIAHEI XIZAH 42,000 0 42,000
= 21,000
& 10,500
Al 10,500
307 elztol & 42,000 0 42,000
= 21,000
< 10,500
Al 10,500
11 AMEISXAEEES 42,000 0 42,000
OO[AHl XIZAHH 42,000,000 42,000




SM: =SXEMY
Ha: 20| EM

= 2 st
el MASS FHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 21,000
=S 10,500
Al 10,500
Ag=alel =X&d 14,613,185 14,678,120 A64,935
= 4,238,766
= 312,018
= 1,693,137
Al 8,369,264
SXMHEE 29 1,374,950 1,374,950 0
SXMHet 23 1,374,950 1,374,950 0
207 ARl 9,950 9,950 0
01 S| 9,950 9,950 0
OFF=AME JEEL 9,950,000& 9,950
306 EG= 1,365,000 1,365,000 0
01 £¢=2 1,365,000 1,365,000 0
OFF=INY 29 1,365,000,000& 1,365,000
=Xt 1,455,530 1,824,384 A368,854
= 21,442
< 1,150,289
Al 283,799
A=K ESAIE 277,357 260,082 17,275
307 lztol & 277,357 260,082 17,275
10 Al SXAIEEHE2EHI 22X 217,357 260,082 17,275
OstitSAMTAELE 22
277,357 ,000& 277,357
C=0IAE 2ERNA(HEAY) 1,135,289 1,123,000 12,289
=S 1,135,289
307 lztol & 1,135,289 1,123,000 12,289
= 1,135,289
10 Al2ISTIAEEE2HIEX 1,135,289 1,123,000 12,289
oded 29 1, 135,289,000 1,135,289
[ 1,135,289
C=0IAM JIsBA(EX) 42,884 441,302 A398,418
= 21,442
= 15,000
Al 6,442
402 2IZtA=01d 42,884 441,302 A\398,418
= 21,442
= 15,000
Al 6,442
02 QI X2 AL EE(0IETHE) 42,884 441,302 N398,418
OdHa JIs=2ZAE 42,884,000 42,884
= 21,442




S SXEB D
Ha: XHF0l9 =SB

SRl =ik (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,000
Al 6,442
NASE deord 2 11,782,705 11,478,786 303,919
= 4,217,324
= 312,018
= 542,848
Al 6,710,515
Nas s388d A 3,200 3,200 0
301 LEtE NS 3,200 3,200
02 ANRI2HHSFS(HAAS, NLHE) 3,200 3,200
osg&d XN 800,000 x4 3,200
S AtEIS X2 I 5,964,016 5,894,494 69,522
201 er23 | 6,600 5,700 900
01 At2t2ltl 6,600 5,700 900
ORMIBEAIE= ot EH
1,650,000 x204 #2353 6,600
giztol 5,452,065 5,061,3%
2ItRE S 4,306,487 3,989,438
ouz& 2 (6MHA) 4,306,487
@3y
675,796,000 675,796
675,861,000& 675,861
664,158,000 664,158
605,012,000 605,012
908,791,000& 908,791
776,869,000 776,869
dHl2x 1,145,578 1,071,957
S 2 (2HA) 1,145,578
Az SA2 29
582,808,000 582,808
FARI =S 29 562,770,000& 562,770
BIXL S CHYI 324,171 827,39
a 321,852 821,945
SEMEEX2 JIsEL3AM
198,770,000 198,770
SEL3A
123,082,000 123,082
2,319 5,454
SAH AIES
1,431, 140& 1,432




A SR
M xAF0lo =2XEZ
CI9l: HASE MEOE £ (cie) 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot SEA2ISAI 2 JISEL3A AIER
CHol 886, 1902 887
402 DIZFXHE0I A 181,180 181,180
01 BIIXHZ AN B (R TR 181,180 181,180
OHZEZBANBI=NZ JSEABA
181,180,000 181,180
28 =X A& 5,271,6% 3,557,982 1,713,674
= 4,217,324
S 527,166
Al 527,166
307 @12t0| & 5,271,656 3,557,982 1,713,674
= 4,217,324
= 527,166
Al 527,166
012z & 2=Hl 5,271,6% 3,557,982 1,713,674
O2s=S=XXNE A 5,271,656,000& 5,271,6%
= 4,217,324
= 527,166
Al 527,166
5! FEE SHES UHUIY 25 7,237 7,930 2693
201 er=2 3| 7,237 7,930 A693
01 AtR2t2|HI 7,237 7,930 2693
O=sX0(S)E g3 HolE=s M
6,000 *1, 1555 %90% 6,237
O=& JI& S ZAHH
100,000 * 10H 1,000
19t Atell2el 29,400 29,400 0
= 14,700
< 2,940
Al 11,760
201 er2 3| 14,700 14,700 0
s 7,350
== 1,470
Al 5,880
01 At22t2l] 14,700 14,700 0
OAtell2tel 22 10,200
O3zl Yztet 50,0003 *244 1,200
= 600
== 120
Al 480
Osletz 5,000& 3005 1,500
fas 750
== 150
Al 600




A SR
M xAF0lo =2XEZ
CI9l: HASE MEOE £ (cie) g
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oos=2s MH 1,500 +5,000% 7,500
= 3,000
== 600
Al 3,900
OSSAtdIZCIAl nFEet|
300,000 %15 4,500
= 3,000
& 600
Al 900
301 EtE NS 14,700 14,700 0
= 7,350
< 1,470
Al 5,880
01 AR 2EHSHS(RNEXRTHE) 14,700 14,700 0
ORIDt= 22y 2K
14,700,000 14,700
= 7,350
== 1,470
Al 5,880
SHS Atdl2el X3 424,740 424,740 0
= 297,318
== 12,742
Al 114,680
201 2= 212,384 212,384 0
= 148,669
= 6,372
Al 57,343
01 Al 22| 186,564 186,584 0
osHs Azl 22l
186,584,000 186,584
= 130,609
= 5,598
Al 50,377
02 s3=gHl 25,800 25,800 0
OROPIs A=K M ZBE AB2
50,0002 4304 2% 123 25,800
= 18,060
=S 774
Al 6,966
301 2eEN= 212,356 212,356 0
= 148,649
=S 6,370
Al 57,337
01 Al EE AL S(FREXH) 212,356 212,356 0




A SR
M xAF0lo =2XEZ
CI9l: HASE MEOE £ (cie) 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORPIIt= Aozl 25X
4,938,500 +430H 2 212,356
= 148,649
[ 6,370
Al 57,337
AZEO0HR! 22014 +==XIH 2,000 3,000 21,000
301 EtE N = 2,000 3,000 A1,000
02 ALRI2EH G (FHAAHS, NSWE) 2,000 3,000 21,000
OAIZLZ OOl 242104 £/
1,000,0002 x2&H 2,000
ARISAAEAE EE ?=23 N 69,600 66,000 3,600
301 LEtE NS 69,600 66,000 3,600
02 ARSI S2E AT S(FIANS, XLETHE) 69,600 0 69,600
OAISTYEAE B8 AES N2
69,600,000 69,600
A 20D 2= A0 Zys 2,000 2,000
303 Za= 2,000 2,000
01 Za= 2,000 2,000
ORIt E= ) L=
2,000,000 2,000
SXNSIIREAHIA 8,85 8,8%
201 etz 3| 8,85 8,8%
02 S3=gHl 8,85 8,85
(O INISPIE 2,4603*3,600S 8,856
HY2EIHI(SNFEAD) 1,287,794 1,237,586 50,168
= 531,198
< 125,967
Al 630,589
el 2| 1,228,462 1,162,018 66,444
= 531,198
== 125,967
Al 571,297
pldety =&(=1) 520,920 508,140 12,780
= 260,460
= 78,138
Al 182,322
101 21AH| 520,920 508,140 12,780
[ 260,460
= 78,138
Al 182,322
03 BRA(RIH )22 U2+ 520,920 508,140 12,780
OSEAtHIZCIA X1 (155) 520,920
(@F=1 451,920,000& 451,920




SH: =NEMY
B WEHSHAH| (SN HHY)
SERRIEESS(T (Shol: &2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 225,960
T 67,788
Al 158,172
o2& 22,000,000 22,000
s 11,000
T 3,300
Al 7,700
O=&t| 24,000,000 24,000
iy 12,000
T 3,600
Al 8,400
O&eise 7,000,000& 7,000
s 3,500
T 1,050
Al 2,450
OJEsY 12,000,000& 12,000
s 6,000
& 1,800
Al 4,200
o< 4,000,000& 4,000
= 2,000
& 600
Al 1,400
EEET 246,042 202, 112 43,930
101 21244l 246,042 202,112 43,930
02 JIEt& B4 2,309 2,19 110
QARSI HIADIM =022
9,620 x1H20A 2H< 12 2,309
03 SR (RIAHY) 22N E> 243,733 199,913 43,820
oz 91,012
OoJlEg= 63,112
U= 173 2,913,910 x 1B+ 122 34,967
= 78 2,345,350 x1H + 128 28,145
Ooz2&=¢ 3,080
-U= 1733 141,240 x 18123 1,69
-Ca 723 115,350 x1H + 122 1,385
OZAHZ Al 140,000& 2F 122 3,360
O&eise 50,0003 x2H 123 1,200
OEARE 50,000 =2« 12& 1,200
oJs=4e 40,0002 2+ 12& 960
O E St 5,260
-Lg 173 1,456,950& *1H+23] 2,914
-O= 78 1,172,670 x1H +23] 2,346




SH: =NEMY
M HYRAZH(SXFHL)
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ozxi=2e=g 8,888
-Lg 72
20,3503 1H*20A1 2Hx 123 4,884
-Ua 728
16,6802 x 1 *20A1 2t 122 4,004
Oc 2 &l 3,952
-Ug 7ss 108,560 x 12 »20! 2,172
-Ua 728 88,9602 x1& 20 1,780
OSEAtHIZCIAL XIR (158) 162,721
OEE=It| 43,875,300 43,876
Oxz=22=¢ 98,280,000 98,280
OYIt2 4| 10,564,960 10,565
S #UHBIOIN 28 X3 7,200 7,200 0
[ 3,600
= 1,080
Al 2,520
101 @124H| 7,200 7,200 0
= 3,600
& 1,080
Al 2,520
03 SRA(PINAHL) 222+ 7,200 7,200 0
O8ZE #MHHIOIN AE2(3Y)
200,000 «3H*12& 7,200
= 3,600
< 1,080
Al 2,520
olA2IHI (S S0H2LIAL 454,300 444,566 9,734
= 267,138
< 46,749
Al 140,413
101 @124H| 408,360 399,883 8.477
= 260,783
== 45,634
Al 101,943
03 SR (RIH )22 U2+ 408,360 399,883 8,477
OS¢ 2IAF X1 (9Y) 408,360
OJlEsU=) 289,356
-19&@ Xt 3,000,750« 1H« 123 36,117
= 28,8%4
< 5,056
Al 2,167
-16E@ Xt 2,865,803« 1H*12& 34,391
= 27,513




A =SXEA
. HY2IZU(SXEF
cel: olzt=2ay) COR-E
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 4,815
Al 2,063
-144xt 2,769,840 x1H + 12& 33,239
= 26,591
= 4,653
Al 1,99
-13EXH(2H) 2,721,8102x2F + 12& 65,324
= 52,260
= 9,145
Al 3,919
-1249xt 2,673,830 x1H+12& 32,086
= 25,669
= 4,492
Al 1,925
-8EXH(2Y) 2,481,930 x2H +12& 59,567
= 47,654
= 8,339
Al 3,574
-6 Xt 2,385,850 1122 28,631
= 22,905
= 4,008
Al 1,718
o= 36,620
-194 Xt 20,980 1H *18A 2++ 12& 4,532
s 3,626
= 634
Al 272
-16E Xt 20,0502 *1H = 18A| 2++ 12& 4,331
= 3,465
= 606
Al 260
-144xt 19,4203« 1Y *18A| 2H+ 123 4,195
= 3,35%
= 587
Al 252
-13EXH(2H)
19, 1103 «2Y = 18A| 2t 123 8,256
s 6,605
= 1,156
Al 495
-12EXt 18,810&* 1« 18AI 2tx 12 4,063
s 3,250
= 569




A SXNEH
Ho: HESAAY| (=X )
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 244
-8E XH2Y) 17,5602 x2S *18AI 2t 122 7,986
[ 6.069
= 1,062
Al 455
6= Xt 16,9302 x 1+ 1BAI 2t 122 3,657
[ 2,926
= 512
Al 219
OJIEt M2 =& 82,384,560 82,385
WM HsEE=S 45,940 44,683 1,257
= 6,355
= 1,115
Al 38,470
M BRA(RIAHSL) 22N BEEERE=s S 45,940 44,683 1,257
O4t2E JI2ARY= 45,940
O=tig= BY= 408,360,000 *4. 5% 18,377
= 6,355
=S 1,115
Al 10,907
O=tHIESE BE=
408,360,000 +3.545% 14,477
OFIIRLEE=E BRE=
14,477,000 %12.81% 1,855
en=EEERE
408,360,000& *1.75% 7,147
O4tiHEE 408,360,000 * 1% 4,084
=1l 59,292 75,568 16,276
=3l 59,292 75,568 16,276
201 er23 | 29,172 32,968 A3,7%
01 At2teltl 29,172 32,968 A3,7%6
QJ12dR =HS3H(OIE3HI)
450,000 x26H 11,700
OSEHI(OI=3H)
8,000 x26H 72 * 122 17,472
202 04| 18,720 31,200 12,480
01 SLHoIH 18,720 31,200 A12,480
O=UobI(O1=ZHI)
20,0003 x26ZH 32 * 122 18,720
203 gR=2| 11,400 11,400
01 D[22 PR FA| 6,000 6,000
OIIEH(43) 6,000,000& 6,000
M FAZSHIFII 5,400 5,400 0
OJI=&H| 5,400




2A:
PSER
o e

el

=XIF D
WSS (SN

SoT oo

J|I=2&

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

302! 0
302!

]
B o

8
g
i
>*
N
o

5,0008 %102~ 122

4,800
600




CFB GBI - MRAY - BES

Ofl &F2H

MEE
Ofl &k2h

oW

=

455,859,834
287,881,873
5,811,479
29,813,544
132,352,938

403,962,913

oW

=

455,831,046
287,881,873
5,811,479
29,813,544
132,324,150

403,925,361

51,905,685

oA

=

450,797,830
287,881,873
5,096,971
29,626,088
128,192,898

401,510,361

49,287,469

i
ro
it
>

0

[

7,350

8,500

A1,150

[he}
(«)
e
aln
02

6,000

7,000

A1,000

= | =
>
=
| @

o
{0
| HO
uf]

©

I
o

02

100,000 ~60&

6,000

6,000

7,000

21,000

8
s’

e
10

1,350

1,500

A 150

8
>
é
T |

e J
Q

©

i

1,500,000 *90%

1,350
1,350

1,500

A 150

OS]
H
o
Mo
02
gl

H

Al

152,196
30,439
121,757

148,028

4,168

307 212+01&

i

Al

152,196
30,439
121,757

148,028

4,168

g

22N 2

38,049,

H

Al

152,196

152,196
30,439
121,757

148,028

4,168

2,540,400

2,716,755

176,355

2,540,400

2,540,040

360

140,000 #37JH 2+ 122

180,000 5987 A+ 122

210,0002 #3440 A+ 122

2,540,400
2,540,400

62,160

1,291,680

866,880

2,540,040

360




A LIS
Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3l& = 5180l&
240,000 * 11104 2% 122 319,680
d2Y dutgy|($=HIZE) S N 2,615,605 1,968,816 646,789
= 1,307,802
= 392,341
Al 915,462
301 EtE N = 409,502 301,536 107,966
= 204,751
[ 61,425
Al 143,326
01 AR 2EHSHS(RNEXRTH) 409,502 301,536 107,966
ozdzgd=t] 409,502,000 409,502
= 204,751
== 61,425
Al 143,326
307 lztol & 2,206,103 1,667,280 538,823
= 1,103,051
== 330,916
Al 772,136
11 AMRISXAEEES 2,206,103 1,667,280 538,823
oZzgdet] 2,206,103,000& 2,206,103
= 1,103,051
= 330,916
Al 772,136
Y 2IHINY(M2R=SEXY) 76,300 76,300 0
< 11,445
Al 64,855
201 er2 3| 76,300 76,300 0
= 11,445
Al 64,855
01 At2teltl 76,300 76,300 0
Y22 F=2XE)
70,0002 *1,0900H 2 76,300
= 11,445
Al 64,855
J2Y 298| N (Z2E3E usH| XY) 18,200 21,582 A3,382
[ 3,640
Al 14,560
307 glztol & 18,200 21,582 A3,382
= 3,640
Al 14,560
11 AMEISXAIEEE 18,200 21,582 A3,382
oZ=gad W=t N
130,000 %140 18,200




A LIS
Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,640
Al 14,560
2= X210/A 637,200 708,000 A70,800
= 191,160
Al 446,040
307 gl2to| & 637,200 708,000 70,800
=S 191,160
Al 446,040
11 AMISXAIEEX 637,200 708,000 A70,800
032 IDI0IAY (B2E MY LR
45,0002 %1,00001 2+ 12 588,600
< 176,580
Al 412,020
0Z2E X0 (SHS HA2A2I)
0,000 «450 A+ 122 48,600
= 14,580
Al 34,020
FZ2E 0123 ZAH X2 A 1,406,101 1,359,655 46,446
< 421,830
Al 984,271
307 elztol & 1,406,101 1,359,655 46,446
S 421,830
Al 984,271
11 AMEISXAEEXS 1,406, 101 1,359,655 46,446
OB=2Y HIIZ3t 2AF XIEAE
1,406,101,000& 1,406,101
= 421,830
Al 984,271
HEtcolsl AIKIE ALR= 2EXE 100,000 100,000 0
== 13,385
Al 86,615
307 212+01& 100,000 100,000 0
< 13,385
Al 86,615
11 AMEISXAEEES 100,000 100,000 0
oust=0ls 2
50,000,000 #20H 2 100,000
= 13,385
Al 86,615
COoIEH 2SN 301,463 363,612 AN\62,149
307 @12t01 & 301,463 309,612 A8,149
11 ARRIS XA E X 301,463 309,612 28,149
olet=ols FFAIXZ 24 301,463




SH: o= R
Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OagMERXI3(2423])
157,223,000& 157,223
OEHEARXIE(21=238])
144,240,000 144,240
COoI0I2e A& 32,000 40,000 A8,000
307 212+01& 32,000 40,000 28,000
11 AMRISXAEEES 32,000 40,000 28,000
Colti e 2ERIR(213])
16,000,000 *2IH 2= 32,000
QI ALK 3.120 7,200 24,080
301 EtE N = 3,120 7,200 24,080
11 #AIMHIXIZE = 3,120 7,200 4,080
O QAL FIHAF 048]
20,0002 * 132 *2JH A+63] 3,120
JHESlE OB 0lE JIS&AHl X1 8,000 15,000 AT7,000
307 @I2t01 & 8,000 15,000 AT7,000
04 QIZFHAIAII B 8,000 15,000 A7,000
©ItFolZ 0ol JIE S X2
8,000,000& 12 8,000
colojd JIg AL 32,000 40,000 28,000
307 elzto| & 32,000 40,000 28,000
04 CIZHHAMAIH 2 & 32,000 40,000 /8,000
Oeleld JISHA} 32,000,000& x13] 32,000
ColMEMSU 12,350 9,700 2,650
307 @120l & 12,350 9,700 2,650
04 QIHHAMAIH 2 £ 12,350 9,700 2,650
O=2ldaX=UzZ 12,350
ONoIEEUZ 4,850,000 *2JH 2= 9,700
Okeldet2E=aliz
2,650,000 * 104 2~ 2,650
d2AE R4 A 1,137,235 1,137,235
307 el2to| & 1,137,235 1,137,235
1 AMISXAIEEXS 1,137,235 1,137,235
OdzAad R4 MY 1,137,235
OggA 4,500 x890H x253! 1,013,265
O== 3,500& 140 253 123,970
NAS THOH=QIAIAL HHE ALY 869,814 869,814 0
307 elztol & 869,814 869,814
1 AMEISXAEEXS 869,814 869,814
OMASTHIt - QI ATAHE AH
4,500 x764H x253 869,814
ALIGIZEE 29 2,321,302 2,153,800 167,502
307 @12t01 & 2,311,302 2,107,800 203,502
10 Al SXAEEE 22X 2,311,302 2,107,800 203,502




A LIS
o Lol=X|SA
&2l oIS Jlgtxd (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAILIoIZ2E 228 X (69H2) 2,311,302
OFFSHAILINZE 409,086,000 409,086
OEFRIAILINZE 364,408,000 364,408
OFFLEAILINZEH 373,853,000 373,853
OFF=NMEAILINZEH 387,200,000 387,200
OFEF=FHAALINZE 414,300,000& 414,300
OFFFEEAILINZY 29
362,455,000 362,455
401 AIEHIZ SR OHYI 10,000 46,000 /36,000
01 Al&HI 10,000 46,000 236,000
OAILINIZE JIsEd 10,000
OFFLYAILIOIZE U= & 25 SA
10,000,000 10,000
Lolgditel 2d(S3AE(X4d)) 29,969,410 22,941,450 7,027,960
= 14,984,705
= 1,498,471
Al 13,486,234
101 @124H| 12,370 10,000 2,370
= 6,185
[ 619
Al 5,566
M JIZtHZ2 RS2 12,370 10,000 2,370
colgdiie] dgels (/\I 73 53) 2UZ
] 12,370
OLoleditel Moy 404 28
250,000 x5 H+8 10,000
= 5,000
= 500
Al 4,500
Oolgite] dgels oixtg(62)
2,370,000 2,370
= 1,185
= 119
Al 1,066
201 fet= 3| 4,400 6,800 A2,400
= 2,200
= 220
Al 1,980
01 At2teltl 4,400 6,800 A2,400
Ol AeIAe =& 20| 4,400
OLogReIAg =8 AIRESE 7
1,400,000 1,400
= 700
= 70




A LIS
Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 630
OLoIURRIAY 27 TRE I 2
300,000 * 107K 3,000
= 1,500
= 150
Al 1,350
301 22N = 4,465,330 2,707,950 1,757,380
= 2,232,665
= 223,266
Al 2,009,399
11 #AIAHIXIE S 10,640 6,920 3,720
OXI% CoAR2IA(TH) 223l
8,000&*1,330H 10,640
= 5,320
= 532
Al 4,788
14 0Bt 2as 4,454,690 2,701,030 1,753,660
O LOIAT2IAN(TH, 1302)
4,454,690,000& 4,454,690
= 2,227,345
S 222,734
Al 2,004,611
307 212+01& 25,487,310 20,216,700 5,270,610
= 12,743,655
= 1,274,366
Al 11,469,289
1 AMISXAIEEXS 25,487,310 20,216,700 5,270,610
Lolgite] 2g(s9E(Xad))
25,487,310,000& 25,487,310
= 12,743,655
= 1,274,366
Al 11,469,289
Colgintel 2 (AEE) 2,109,300 1,682,100 427,200
= 1,064,650
= 105,465
Al 949,185
307 @20l & 2,109,300 1,682,100 427,200
= 1,064,650
= 105,465
Al 949,185
11 AMEISXAIEEXS 2,109,300 1,682,100 427,200
olgxiel 2E(AMEE)
2,670,000& 790 2,109,300
= 1,064,650




A LIS
Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 105,465
Al 949,185
Coldxiel 2 (HYLHE) 28,500 23,550 4,950
= 14,250
== 1,425
Al 12,825
307 lztol & 28,500 23,550 4,950
= 14,250
== 1,425
Al 12,825
11 AMRISXAEEES 28,500 23,550 4,950
oLoldte 2d(HYLHE)
150,000 »190H 28,500
= 14,250
== 1,425
Al 12,825
colgiitel 2d(dlla dgel) 2,632,620 2,017,890 614,730
= 1,316,310
s 131,631
Al 1,184,679
101 ©1AH| 89,408 87,143 2,265
= 44,704
= 4,470
Al 40,234
04 JIZtN22 XS+ 89,408 87,143 2,265
Ooolyxte| dgelA(Al, 73 59)
89,408,000 89,408
= 44,704
= 4,470
Al 40,234
307 @I2t01 & 2,543,212 1,930,747 612,465
= 1,271,606
= 127,161
Al 1,144,445
1 AMISXAEEXS 2,543,212 1,930,747 612,465
olgTte] Mgl (a2 85)
2,543,212,000& 2,543,212
= 1,271,606
= 127,161
Al 1,144,445
olxiel 29 (ASAHIAS) 18,019,856 9,533,062 8,486,794
= 9,009,928
= 900,993
Al 8,108,935




2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

307 212t01™

Mo

18,019,856
9,009,928
900,993
8,108,935

9,533,062

18,019,856,000&

Mo

=

18,019,856

18,019,856
9,009,928
900,993
8,108,935

9,533,062

8,486,794

Mo

=

325,242,785
260,194,228
13,009,711
52,038,846

297,136,759

28,106,026

Mo

=

325,242,785
260,194,228
13,009,711
52,038,846

297,136,759

28,106,026

325,242,785,000&

hoH

325,242,785
325,242,785
260,194,228
13,009,711
52,038,846

297,136,759

28,106,026

112,590

372,000

A259,410

12,590

20,000

AT7,410

5,000,000&

S
U
0
Mo

i
=

O
>
0Q 0
[==

o
0N Mo

@)
e
pall
=

65,0003 +6CH
1,200,000 6CH

O
H
0%

5,000

5,000
7,590
7,590

390
7,200

12,800

7,200

27,800

390

2

100,000

100,000

wW
~ | &
e
=
B |y
il 2
P
>

©
0%
[0
O
02
X

|2 100,000,000&

100,000
100,000

100,000

I
e
o
o
A
i
x
=
>

Mo

=

6,533,150
4,573,220

587,980
1,371,950

6,587,410

54,260

307 212t01&

Mo

6,533, 150
4,573,220

587,980
1,371,950

6,587,410

AB4,260
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SN o= B
L e eSS
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| onigs=e & gy 178,623,002 178,623
COIAZAIL SAXR (HEA) 1,284,747 1,141,137 93,610
= 975,450
Al 250,297
307 212H01 1,234,747 1,141,137 93,610
= 975,450
Al 250,297
DR EPONEEEEETEES 1,284,747 1,141,137 93,610
COl%RAIE 2N/
1,234, 747,000 1,284,747
= 975,450
Al 250,297
el =XAE 2SXe 6.000 3,600 2,400
= 2,400
A 3,600
307 212H01 6.000 3,600 2,400
= 2,400
Al 3,600
DREEPONEEEEETEES 6.000 3,600 2,400
OMeleY =XAlL SSX
6,000,000 6.000
T 2,400
Al 3,600
oISty ojet 14,500 22,700 8,200
201 Yereely| 1,900 22,700 £20,800
01 Al 22lb| 1,900 22,700 20,800
OLoEs RLHYH 29 1,900
OAL=2H| 400,0002! 400
OE2HI(222E 72) 1,500,0002 1,500
301 Yerew3 12,600 12,600
14 JIELE A S 12,600 12,600
OL0IES RUEYE 2 S|
50,0008 6324 x43] 12,600
NE2Y Jlgxy 315,85 790,000 A474, 144
2 43,508
= 43,456
Al 228,892
o= NB IIs2Y 13,000 104,000 A91,000
= 13,000
401 Al HI L2 OHH] 13,000 104,000 91,000
= 13,000
01 AlZH 13,000 104,000 91,000
OOIRAAE EHBA 13,000,0002 13,000




A LIS
Hm: Lol=X|SX
SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 13,000
FFdgo=mNR JIs2S 70,000 0 70,000
401 AlE2BIXL S THYI 70,000 0 70,000
01 Al&HI 70,000 0 70,000
OsZJ WM SAt 70,000,000& 70,000
BFUHEISX2 JIs22 65,000 198,500 A133,500
401 Al HIZL 01| 65,000 198,500 A133,500
01 Al&H| 65,000 198,500 /133,500
05l E=3At 15,000,000& 15,000
O&FZ WA 50,000,000 50,000
LRIFXAE =SAIE A 80,840 87,340 26,500
201 fer= 3| 80,840 87,340 26,500
01 At 2t 11,540 10,340 1,200
OAILIGIZEE 3BAd= S 11,540
OHEFHIAILINSHY
2,830,000& 22 5,660
OFFAILISE =2
2,940,000& *23] 5,880
02 S3=gHl 69,300 77,000 AT7,700
O=ZXAIE (0!, FAH AIESKXIHI
69,300,000 69,300
ez aIAd &X 87,016 0 87,016
s 43,508
s 30,456
Al 13,052
402 2I2F X201 & 87,016 0 87,016
[ 43,508
= 30,456
Al 13,062
02 QI XHE AL E R (01X THE) 87,016 0 87,016
OFIIRI|Z SIIAE XK
87,016,000 87,016
[ 43,508
= 30,456
Al 13,062
FR2et o 4,717,360 1,625,000 3,002,360
[ 671,000
= 144,000
Al 3,902,360
Fdag =24 460,000 375,000 85,000
307 gl2to| & 400,000 375,000 25,000
05 212+ = 400,000 375,000 25,000
oFdAE UG 400,000




A LIS
M Lol=XEX
el EES O (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2 At 212l & 2EH|
340,000,000 340,000
OR0IAF e124d| 60,000,000 60,000
401 Al HIZ R OHHI 60,000 0 60,000
01 AlZ8| 60,000 0 60,000
OFFAIZAY tH4 c|28E SA
,000,000& 60,000
8 Miatsd =8 NSF2Us st FU=S2AIY| 300,000 300,000 0
&
401 Al HIZ 2018 300,000 300,000
01 Al&H| 300,000 300,000
Ollstsd FHOS F2U=JAAIEHI
300,000,000 300,000
SHE SFAIE D5EE &Y 959,000 0 959,000
[ 671,000
= 144,000
Al 144,000
401 AIZHIX S0HH 959,000 0 959,000
[ 671,000
= 144,000
Al 144,000
01 Al&HI 959,000 0 959,000
OSEd SHAE NE3EZ FUHEXR
959,000,000 959,000
[ 671,000
= 144,000
Al 144,000
FFAANE 2L SHEMANER) 23X 2,998,360 0 2,998,360
309 HES 1,879,722 0 1,879,722
01 SAt- SHEYNES 1,879,722 0 1,879,722
OZAAER ASAISHI (B & AIZHI)
1,879,722,000& 1,879,722
404 SANSHUH=HES 1,118,638 0 1,118,638
01 BAl- SEHI=HES 1,118,638 0 1,118,638
OFAAIZE R IEAIEHI(XH=AH)
1,118,638,000& 1,118,638
HH2LIH(= =T ) 28,788 37,552 A8,764
=238l 28,788 37,552 N8,764
JI23Hl 28,788 37,552 N8,764
201 et 3| 15,708 17,752 A2,044
01 At22t2l] 16,708 17,752 A2,044
OJl=gR=+daSHI(OI1=3])
450,000 14 6,300
O=gHI(01=2HI)
8,000 x 1472 x 12 9,408




EA: Eel=X
Mz M HAH|(Le1=2X 1)
oel: D23l (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
202 04b| 10,080 16,800 NB,720
01 2L Y| 10,080 16,800 NG, 720
O=2U0odI(O1=AHl)
20,0003 x14H +x32 x 128 10,080
203 YR =ZIH| 3,000 3,000
04 EAS2HH 2= 3,000 3,000
©J|=2H(15210/5}) 250,000& x12& 3,000




H & 0l & AHS B Ml A

S BOKOI=XIDH
Ha: ZjoI=x P

Rl OIS Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZOHRI =Xt 161,203,898 149,566,351 11,637,547
= 87,914,220
Jl 91,200
= 12,061,735
Al 61,136,743
oIS & 161,174,510 149,524,899 11,649,611
= 87,914,220
) 91,200
= 12,061,735
Al 61,107,355
ZoHeI=X Jlgtxd 120,287,260 107,254,454 13,032,806
= 70,431,886
Jl 91,200
= 9,232,445
Al 40,531,729
ZOHRI=S I BH(XEA) 1,350 1,500 A150
203 =4l 1,350 1,500 A180
03 A=A H R S| 1,350 1,500 A150
OFMA=SXNH R =T 1,500,000 *90% 1,350
o= 20,961,668 20,438,812 522,856
= 14,673,168
=S 1,886,550
Al 4,401,950
301 EtE NS 20,961,668 20,438,812 522,856
= 14,673,168
= 1,886,550
Al 4,401,950
01 Al EE AT S (2 RDEXA) 20,961,668 20,438,812 522,856
(OFSV R = INI= 20,961,668,000& 20,961,668
= 14,673,168
= 1,886,550
Al 4,401,950
== (1x) 2,863,017 2,732,148 130,869
= 2,004,114
= 601,232
Al 257,671
301 EtE N = 2,863,017 2,732,148 130,869
= 2,004,114
< 601,232
Al 257,671
01 AR 2EHSHS(RDNEERTHE) 2,863,017 2,732,148 130,869
O Ea={@IES) 2,863,017,000& 2,863,017
= 2,004,114




SRR

X XH -
o=

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 601,232
Al 257,671

Zor2(Xtael S) 1,479,269 1,569,323 £~90,054
= 1,035,489
< 310,646
Al 133,134

301 EtE NS 1,479,269 1,569,323 290,054
= 1,035,489
== 310,646
Al 133,134

01 Al 2E A S(SRNEXMH) 1,479,269 1,569,323 290,054
O (Xt&tel S) 1,479,269,000& 1,479,269
= 1,035,489
=S 310,646
Al 133,134

ZOHEZHANER2E (2 1) 20,108 19,516 52
= 10,054
= 3,016
Al 7,038

301 Eet2 NS 20,108 19,516 502
= 10,054
= 3,016
Al 7,038

01 Al EE AT S (2 RDEEMRA) 20,108 19,516 592
OZWE=AMN == 20,108,000 20,108
= 10,054
= 3,016
Al 7,038

o sSXEAE (=1) 62,666,893 54,335,641 8,331,252
= 43,866,825
= 3,760,014
Al 16,040,054

308 AHAIEMSOIH 62,606,893 54,335,641 8,331,252
= 43,866,825
[ 3,760,014
Al 15,040,054

18 SISOt EAS A 62,666,893 54,335,641 8,331,252
OS2 A 62,666,893,000& 62,666,893
= 43,866,825
== 3,760,014
Al 15,040,004

JoHIESE X JHEH 1,357,083 472,978 884,106
= 949,958




SN &

X ZH -
o=

chl: (=CR-E))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 81,425
Al 325,700
308 AHXIHM SO & 1,357,083 472,978 884,105
= 949,958
T 81,425
Al 325,700
13 SI |2 SUICHEH B AR L EFALAH] 1,357,083 472,978 884,105
OZZBUABSEE IHIZ0!
1,357,083,000& 1,357,083
= 949,958
& 81,425
Al 325,700
SSEHIESEX FINEX)XIA(ZHI) 2,045,459 845,638 1,199,821
& 556,365
Al 1,489,094
308 AXISHMSOIN 2,045,459 845,638 1,199,821
& 556,365
Al 1,489,094
13 BI |2 SOICHEH B A X LE AL 2,045,459 845,638 1,199,821
OS2 EX FIHKA
2,045,459,000& 2,045,459
T 556,365
Al 1,489,094
SSHOC ESEX 24A12F XI&(=HI) 388,004 353,052 34,952
= 105,537
Al 282,467
308 AXISHMSOIN 388,004 353,052 34,952
& 105,537
Al 282,467
13 SI |2 SOICHEH B & XL E AL 388,004 353,052 34,952
O=SHMCIE#ESEXL 24A12F XI&
383,004,000& 388,004
T 105,537
Al 282,467
HOHRISRE2ItE X (&Hl) 23,256 67,262 A44,006
= 6,326
Al 16,930
308 AHXIHM SO & 23,256 67,262 A44,006
& 6,326
Al 16,930
13 BI 12 SOICHEH B & XL E ALY 23,256 67,262 A44,006
OFOeIeR22ItE XA 23,256,000 23,256
& 6,326
Al 16,930




SA: RfOI=XID
Hm: FojoI=x 7

s ZOHRI=X Jlgtxd (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OIS S FIRE (FAES)AS (<) 93,024 134,525 A41,501

== 25,303
Al 67,721
308 XX EHHISOI® 93,024 134,525 A41,501
== 25,303
Al 67,721
13 I 2SO CHEHE A M IS A 93,024 134,525 A41,501
OFHAZSKY FIIKIGAIY (F2HES)
98,024,000 93,024
= 25,303
Al 67,721
SEHHASSXIRAHIA F=IHXI (XEH) 2,273,460 2,186,028 87,432
308 XX EHHISOI® 2,273,460 2,186,028 87,432
13 B2 SHHEHZAHE A 2,273,460 2,186,028 87,432
OSHEH X OS2 AT
16, 1502 +B0AI 21102 * 1224 1,279,080
OB LRI L XL EOhAICH
16, 1502 *60A| 2H85% * 128 988,380
ORIELRHI (B =2AF 2HEER)
6,000,000 6,000
SRR FASSAHIA XA (2D) 2,364,548 1,771,33% 503,212
2 1,655, 183
= 141,874
Al 567,491
308 XIXIEHHISOI® 2,364,548 1,771,3% 503,212
2 1,655,183
< 141,874
Al 567,491
13 I 2SHHEHE A M IS AL 2,364,548 1,771,33% 508,212
OYLHQ FAHSAHIA XA (ZH)
2,364,548,0002 2,364,548
2 1,655, 183
< 141,874
Al 567,491
LSRR LS SEAHIA(RD) 748,263 739,986 8,277
2 523,784
< 44,8%
Al 179,583
308 XHXIEHHISOI® 748,263 739,986 8,277
2 523,784
== 44,8%
Al 179,583

183 SIS0t 4 EAS AL S| 748,263 739,986 8,277




SN &

BH: Fojol=x P
Chel: RO§OI=X| JIPHEA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OTSTIRl AT HEAHIA
748,263,000 748,263
= 523,784
[ 44,8%
Al 179,583
LHIHUIRE Aol X2 5,769 5,839 AT0
= 4,038
[ 519
Al 1,212
308 XXM SOIA 5,769 5,839 AT0
= 4,038
s 519
Al 1,212
13 SI[2SOHE & EAS A 5,769 5,839 AT0
CEEF N ICT=RNCIP = E
5,769,000& 5,769
= 4,038
=S 519
Al 1,212
LA A XS 2,314,163 1,780,800 533,363
= 1,619,914
=S 208,275
Al 485,974
308 AtXIEHMSOIE 2,314,163 1,780,800 533,363
= 1,619,914
= 208,275
Al 485,974
183 S| 2SO &HAEAIE 2,314,163 1,780,800 533,363
OZ0ots EEMEAMBIA K&
2,314,163,000& 2,314,163
= 1,619,914
= 208,275
Al 485,974
AL EHIRH XI& 28,420 26,390 2,030
= 19,8%4
= 2,558
Al 5,968
308 AXIHSOIA 28,420 26,390 2,030
= 19,8%
== 2,558
Al 5,968
18 SIS0t & HAS A 28,420 26,390 2,030
OOEEHI*H K& 28,420,000& 28,420
= 19,8%4




SRR

Zu: Zojoi=x P
Rl OIS Jlgtxd EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 2,558
Al 5,968
EZTTC RE34A XA(ZH) 26,000 25,000 1,000
= 7,800
Al 18,200
307 212+01™ 26,000 25,000 1,000
S 7,800
Al 18,200
11 ARRIS XA E X 26,000 25,000 1,000
OZZZUM R4 26,000,000 26,000
= 7,800
Al 18,200
ZoEAES At 282,920 361,862 AT8,942
201 L2 34,920 40,412 A5, 492
01 AtR2telbl 34,920 40,412 Nb,492
OFEMRI=SXIE AASLs KA(HS &
SHHIE) 3,820 « 22,920
OZMRIRSHNEEZ SEE &IE Y
SHIZ 4,000 3,000 12,000
307 212t01& 248,000 321,450 AT3,450
11 ARRIZXAIE E 248,000 321,450 AT73,450
OFMU=SXAI LSS SAA ALzt
14,000,000& *12] 14,000
OZOfAUEM &2zt X
95,000,000 %104 A~ 95,000
oO==0lua =249 8,000,000 * 10 2 8,000
oFMAEEF 2=SXANE 29
35,000,000& 100 2 35,000
o =SHe 24
40,000,000& *10H 2~ 40,000
OLZFOR! XIEH0ISAY 29
32,000,000 *10H 2~ 32,000
O MRESEXE 24
8,000,000 *1JH 2~ 8,000
OB XA AKX LAY
6,000,000 100 2 6,000
OZ AT HEAEEHS SALA SEf25t
10,000,000& *13] 10,000
ZONQU =S XA &It A& 4,200 6,000 A 1,800
301 LRENEZF 4,200 6,000 1,800
11 HAIMHIXI RS 4,200 6,000 21,800
omIa=Tisl EFItoH
50,0002 »28H 1,400
OXHZ! =Xl HIHHb]
50,0003 »28H 1,400




SRR

Hm: mOfoI=X P
Rl OIS Jlgtxd EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ONMIXIME RIS A FIHYI
50,0003 *28H 1,400
Zoeln=s, XIZXJAAS 80,687 120,728 240,041
307 QI2Hol ™ 80,687 120,728 240,041
11 Al =SXAMEES 80,687 120,728 A40,041
OOtz HHESHE 22
20,000,000 *1JH 2~ 20,000
O PEAEHDS 2
5,000,000& *17H 2 5,000
s0eI=1n4a 249
16,000,000 171 2 16,000
OLLTOL F2HE 2
3,687,000 *1JH 2 3,687
OAIZEOC! B NEAY 2
4,000,000 10 2 4,000
OAZZOC! SETHEAY 2
32,000,000 100 2~ 32,000
ZOHRIQl & AL 35,000 29,100 5,900
307 gI2Hol 35,000 29,100 5,900
04 QIZHHAIAISE E X 35,000 29,100 5,900
oFoele] & IIEHA
35,000,000 13 35,000
X0l AL 6,790 6,790 0
307 2I2+01A 6,790 6,790
04 QIZISHATAIE B & 6,790 6,790
O XNZO0lIY A K&
6,790,000 *13] 6,790
6.3=0t212] & AL 5,820 5,820
307 gI2Hol ™ 5,820 5,820
04 QIZHHAIAIE E X 5,820 5,820
©6.3.=0t212] & A+ XA
5,820,000& *13] 5,820
ZOHRl WS2S0I=H A 4,000 4,365 A365
307 212+01 A 4,000 4,365 A365
04 CIZISHAIAIRIE & 4,000 4,365 A365
OZOe nESZstoli=H A XA
4,000,000 *13] 4,000
AIMIZE Ol RHE 3 3,800 4,850 1,050
307 QI2Hol 3,800 4,850 A1,050
04 QIZHHAIAIE E X 3,800 4,850 A1,050
O4IMEOCIE2l K&zl
3,800,000&*12] 3,800
Aol HOAlL XRAHH 29 218,398 183,148 35,250
307 QIZ2t01 A 218,398 183,148 35,250
11 Al SXAMEE X 218,398 183,148 35,250




SRR

E M

CHRl: HOHoI=X] J|etE Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXMEHAEHAAIE Jl=XIBHE 29
218,398,000& 218,398
ORISR ME 23 376,252 351,658 24,594
307 gl2to| & 376,252 351,658 24,594
05 glt?(& = 376,252 351,658 24,594
OF=Al ZOHINEXNAEHZ2SE
376,252,000 376,252
Zope! et AR (MLT)IAY X (=1) 2,366,000 2,969,933 603,933
= 1,183,000
=S 365,000
Al 828,000
101 ©1AH| 2,366,000 2,969,933 603,933
= 1,183,000
= 365,000
Al 828,000
04 JIZtN22 XS 2+ 2,366,000 2,969,933 603,933
OFOfQ! LerHAX2(HMLM)ALY XI&(80
) 2,366,000,000& 2,366,000
= 1,183,000
= 365,000
Al 828,000
ZoHel et ATl (AIZANAIY R (2D) 650,000 620,085 29,915
= 325,000
= 97,500
Al 227,500
101 @124H| 650,000 620,085 29,915
= 325,000
= 97,500
Al 227,500
M OIRINZZ2NSE S 650,000 620,085 29,915
OZTOHQ! LBHAUTICI(AIZEM)AIY KIS (44
&) 650,000,000& 650,000
= 325,000
& 97,500
Al 227,500
ZoHel SXIYRt2lA X (21) 1,714,000 1,822,208 /108,208
= 857,000
= 257,000
Al 600,000
307 glztol & 1,714,000 1,822,208 108,208
= 857,000
== 257,000
Al 600,000
11 AMEISXAEEES 1,714,000 1,822,208 108,208




SN &
X XH -
[ I

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ el SXATIZIAY X2 (248)
1,714,000,000& 1,714,000
= 857,000
< 257,000
Al 600,000
AZEZOHQ! OFOFAF HHHAANE (2 1) 484,300 437,347 46,953
= 387,500
[ 29,000
Al 67,800
307 glztol & 484,300 437,347 46,953
= 387,500
s 29,000
Al 67,800
11 AMRISXAEES 484,300 437,347 46,953
OAIZIZ 0Nl HORAF IFAAL (269)
484,300,000 484,300
= 387,500
=S 29,000
Al 67,800
LR QYESAEE AISE(Z1) 317,000 292,013 24,987
= 168,000
=S 48,000
Al 111,000
307 21201 & 317,000 292,013 24,987
= 158,000
= 48,000
Al 111,000
1 AMISXAEEXS 317,000 292,013 24,987
OLLHML QYBSAEE AHI(17Y)
317,000,000 317,000
= 158,000
= 48,000
Al 111,000
L2 2R HRXER DHAAE(EHI) 39,923 38,390 1,533
== 11,976
Al 27,947
307 212+01& 39,923 38,390 1,533
[ 11,976
Al 27,947
11 AMEISXAEEES 39,923 38,390 1,533
oggH22X HRAEH A1)
39,923,000& 39,923
= 11,976
Al 27,947




=N
E M
chel:

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
ARANCAAY S LLEoHe AEHRRA(EHI) 6,183 6,031 152
= 1,855
Al 4,328
307 212t01™ 6,183 6,031 152
= 1,855
Al 4,328
11 ARRIS XA E X 6,183 6,031 152
ORI TRAIGE0 LLaohel e (2H)
6,183,000 6,183
== 1,855
Al 4,328
Z0HQ) LAUSH=IIXRHE 2L (<HI) 141,780 144,000 N2,220
= 56,710
Al 85,070
307 212t01™ 141,780 144,000 22,220
= 56,710
Al 85,070
11 ARRIS XA E X 141,780 144,000 N2,220
OZOMAUAUSAHFIIXJHEH SH (2L
) 141,780,000 141,780
== 56,710
Al 85,070
ZHOHQ! 101 1D ZOHQ! D1 &M HFE X2l AF( 81,001 115,900 A34,899
&Hl)
= 24,300
Al 56,701
307 el2tol & 81,001 115,900 A34,899
= 24,300
Al 56,701
11 ARRIS XA E X 81,001 115,900 A34,899
©12! 171 ZoHe! - I &t SEEE L Xiel
At (30E) 81,001,000 81,001
< 24,300
Al 56,701
STTHR XAXSE FHIXE AL (21) 180,480 180,452 28
Il 91,200
S 26,784
Al 62,496
307 212t01& 180,480 180,452 28
Il 91,200
S 26,784
Al 62,496
11 ARRIS XA E X 180,480 180,452 28




SRR

Zu: Zojoi=x P
ool FoOfOI=X JIBEA (crel: g)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OEZTU NALES FHLXHAR(122)
180,480,000& 180,480
| 91,200
= 26,784
Al 62,496
Z0fel AHLSTESAIAE(ZHI) 18,000 18,000 0
& 7,200
Al 10,800
307 QI2tol ™ 18,000 18,000 0
& 7,200
Al 10,800
11 Al =SXAMEES 18,000 18,000 0
OTOHO! HUASTES A (204 )
18,000,000& 18,000
= 7,200
Al 10,800
BN 2H (=) 542,954 509,199 33,755
& 162,886
Al 380,068
307 QI2Hol M 542,954 509,199 33,755
& 162,886
Al 380,068
10 Al S XA EEHE2IHIE X 542,954 509,199 33,755
O&EXNEAZ S22 (1H4)
542,954,000 *1JH 2 542,954
= 162,886
Al 380,068
Foelsia 29 3,885,416 3,651,598 233,818
307 212+01 A 3,885,416 3,651,598 233,818
05 QIZtRIES 1,679,166 1,545,998 133,168
OBMWASTZ 2Y(FFAZHASL=T|
=) 1,679,166,000& 1,679,166
10 Al S XA EEHE2FHIE X 2,206,250 2,105,600 100,650
OXHeISXZ 2L (XIS E=SKIR)
2,206,250,000& 2,206,250
ZOHQIMEOISKIRHEH 22 448,150 430,824 17,326
307 2I2+01A 448,150 430,824 17,326
10 AISISXAEHE2ZHIER 448,150 430,824 17,326
OFHOIMEO|SKIAME 2H(1HL)
448,150,000& 448,150
ZOCIF2HESAIE 2Y 5,128,298 4,817,881 310,417
307 gI2Hol 5,128,298 4,817,881 310,417
05 QIZIRIErZ 691,565 677,355 14,210
OFOUFAUAESAIE 2L (1HA) 691,565




SRR

E M

s ZOHRI=X Jlgtxd EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
SEENETRESEERTE
691,565,000& 691,565
10 Al SXAZEHE 22X 4,436,733 4,140,526 296,207
OFMLUFAUESAIE 2E () 4,436,733
OdlEE I SS=2
774,317 ,000& 774,317
O™ = HIH 417,769,000 417,769
OHICHLIZ=2tHIE OIAS XK
696,503,000 696,503
O&lEEoHel 424,423,000 424,423
OUHES 527,442 ,000& 527,442
Osote! 287,206,000 287,206
o2 653,466,000 653,466
Ott=2l 384,090,000 384,090
o =4 271,517,000 271,517
F=UHSFHE =23 383,800 342,338 41,462
307 elztol & 383,800 342,338 41,462
10 AlRISTIAIEEE 22X 383,800 342,338 41,462
O=x=0lSAHH 2 (1HA)
383,800,000& 383,800
oI =24 743,045 724,99 18,049
307 el2to| & 743,045 724,996 18,049
10 AlISXAAZEHE 22X 743,045 724,99% 18,049
OTOHAITHE AR S (1HA)
743,045,000 743,045
ZOHIHEE XD (21) 39,953 39,953 0
= 31,974
S 2,3%
Al 5,583
301 EetE NS 39,953 39,953 0
= 31,974
= 2,3%
Al 5,583
01 Al EE A S (2 REXMR) 39,953 39,953 0
oZoeHe eI+ A
39,953,000& 39,953
= 31,974
= 2,3%
Al 5,583
ZoHelel=Hl X (21) 466,016 407,263 58,753
= 372,813
= 65,242
Al 27,961
308 AXIMSOIA 466,016 407,263 58,753




=N
E M
chel:

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 372,813
=S 65,242
Al 27,961
183 S 2SS B XA AIE 466,016 407,263 58,753
o=l XA 466,016,000 466,016
= 372,813
= 65,242
Al 27,961
ZoHl w=H| IR (=HI) 126,000 106,000 20,000
== 50,400
Al 75,600
307 212+01& 126,000 106,000 20,000
< 50,400
Al 75,600
11 AMEISXAEEES 126,000 106,000 20,000
OFMH WFHIXIH 126,000,000 126,000
= 50,400
Al 75,600
AZfel s4HIS XIJA(2D) 25,200 27,000 21,800
= 17,640
= 2,268
Al 5,292
301 EtE N = 25,200 27,000 A1,800
= 17,640
= 2,268
Al 5,292
01 A EEATZ(ZDEZME) 25,200 27,000 21,800
O g EaHIE X2
25,200,000& 25,200
= 17,640
== 2,268
Al 5,292
ZOHOIOHY SMXAS(XHH) 25,000 30,000 A5,000
301 EtE N = 25,000 30,000 25,000
02 ARSI X LGS (FHAAHS, NSWE) 25,000 30,000 /5,000
OZOHRIHE SIS (XEA) 25,000
OZME It &etEoiel
1,500,0002 12 18,000
OHMHE It dotXlE2 !
1,000,000 x7H 7,000
OIAZONQ! DAL 01 AR (XEAI) 144,404 143,640 764
307 elztol & 144,404 143,640 764
11 AMEISXAIEEXS 144,404 143,640 764




SRR

X XH -
o=

Rl OIS Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI JINE20] ALXS
144,404,000 144,404
HAZHS NEXI(=1) 44,020 43,100 920
= 30,814
= 5,282
Al 7,924
307 elztol & 44,020 43,100 920
= 30,814
[ 5,282
Al 7,924
11 AMEISXAEEES 44,020 43,100 920
ONd &M WEXIZA
44,020,000& 44,020
= 30,814
& 5,282
Al 7,924
OIAZONel MW= (<) 31,500 30,000 1,500
= 12,600
Al 18,900
307 elzto| & 31,500 30,000 1,500
= 12,600
Al 18,900
1 AMISXAIEEX 31,500 30,000 1,500
OUIAROe BADS S
31,500,000& 31,500
< 12,600
Al 18,900
HOIZOHCl HMWSI|Z 2F (&) 160,000 144,000 16,000
= 48,000
Al 112,000
307 elztol & 160,000 144,000 16,000
= 48,000
Al 112,000
11 AMEISXAEEXS 160,000 144,000 16,000
OdoIZel HlusJ|2 228
160,000,000 160,000
== 48,000
Al 112,000
LR BHw=s T2 X (EHI) 20,000 20,000 0
= 6,000
Al 14,000
307 elztol & 20,000 20,000 0
= 6,000
Al 14,000
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A HOHISKIN
3 Yo=K 23
Rl OIS Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,376
Al 2,064
307 lztol & 3,440 2,819 621
= 1,376
Al 2,064
11 AMEISXAIEEXS 3,440 2,819 621
O HFAIE HAH 2tHEl S A
! 3,440,000 3,440
=S 1,376
Al 2,064
i3S AldE XN8= 28t B ZA 1,840 0 1,840
201 2= 1,840 1,840
01 At22t2ltl 1,840 1,840
ORMIBE A= XIES Rlet EHZAL
460,000 x4 1,840
el 82 I FAE=H| 1,000 2,000 A1,000
201 Zer2t] 1,000 2,000 21,000
2 ZZ2H| 1,000 2,000 1,000
O HSLHT SHIRXL4H
1,000,000 1,000
o= /s 24 11,600 13,300 A1,700
201 =3 11,600 13,300 A1,700
01 At22t2l] 11,600 13,300 A1,700
O3 A< 11,600
oS ia =233 42z
100,000 x5 %123 6,000
OFFAl ZUHAUSKX 2123
100,000 x5& x32] 1,500
O XE=X L IHAEE AR
100,000 6 »23] 1,200
OFFA eSS =N 2 =51 &84
o AR 100,000 7 & *13] 700
OFFAZNUFLESHE, FFAIZOM
QIRHSERAME £} HFAO SR
100,000 7 & *13] 700
OHYMI=sNLRe] & St +=#
Jlz MEACl e
100,000&*5& *13] 500
OZHAANATHE A =2 HH &9
Sak=kel 100,000& x5 *13] 500
OZLHe BMNE =278 RIZA
2302 MBIl P
100,000& 5 *13] 500
el 8sEXI1D| 2K 22,000 30,000 /8,000
201 fet=3| 22,000 30,000 /8,000
01 AtR2t2|HI 2,000 3,000 21,000
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SRR

X XH -
o=

Rl OIS Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 517,840 0 517,840
OzISE LEEM =2t 115 111 Bt2X X
= 517,840,000& 517,840
= 362,488
< 62,141
Al 93,211
223 JIgtxy 40,887,250 42,270,445 1,383,195
= 17,482,334
< 2,829,290
Al 20,575,626
STHHAUNEMEHE 2E(=21) 492,798 482,490 10,308
= 197,118
== 88,704
Al 206,976
307 212+01& 492,798 482,490 10,308
= 197,118
= 88,704
Al 206,976
1 AMISXAIEEX 492,798 482,490 10,308
OSSN HEHH XA (=12)
492,798,000 492,798
= 197,118
= 88,704
Al 206,976
ST d2HH XA 290,000 260,000 30,000
< 116,000
Al 174,000
307 212+01& 290,000 260,000 30,000
S 116,000
Al 174,000
11 AMEISXAEEXS 290,000 260,000 30,000
O=SSHM NEHYEHH 23
290,000,000 290,000
= 116,000
Al 174,000
ZOHRIHFAIE AHIYA 0l8F X (=21) 201,503 201,503 0
= 141,052
= 18,135
Al 42,316
307 gl2to| & 201,503 201,503 0
= 141,052
= 18,135
Al 42,316
1 AMEISXAEEXS 201,503 201,503 0




2A:
PSR
ool

ZOHR!I= Xl
o= 23
ANE2Y Jlgtxd

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZOAUAHFAIE AHILA 0182 X
201,503,000& 201,503
= 141,052
[ 18,135
Al 42,316
ZOHRIH=AIE 22(=21) 22,410,113 20,665,090 1,745,023
= 15,687,081
[ 2,016,909
Al 4,706,123
307 glztol & 22,410,113 20,665,090 1,745,023
= 15,687,081
s 2,016,909
Al 4,706,123
10 Al SXAIZEHE2EHI 2 X 22,410,113 20,665,090 1,745,023
OHMANFAIE 2
22,410,113,000& 22,410,113
= 15,687,081
=S 2,016,909
Al 4,706,123
ZOHQIEDIHFAIE 2F (KHA) 1,761,648 1,494,159 267,489
307 elztol & 1,761,648 1,494,159 267,489
05 2IZtAE = 868,404 711,118 157,286
OF AN AHFAIZ 2SRIZ(1H2L)
868,404,000 868,404
10 Al SAAEEHE 22X 893,244 783,041 110,203
OZOHASI I HFA L 2SR (20HA) 893,244
OHICILIEI 2SS HIH 484,132,000 484,132
O365= S HIE 409,112,000 409,112
oSS HEIE 2 1,628,731 1,564,658 64,073
307 glztol & 1,628,731 1,564,658 64,073
10 Al SXAIEEHE2EHI 22X 1,628,731 1,564,658 64,073
O23FlssdeIs Na 1,628,731
oz 70,236,000& 70,236
oz 67,980,000 67,980
Os0=2 77,748,000 77,748
O=salte 80,064,000 80,064
Ot UL 66,276,000& 66,276
OsZe 77,472,000& 77,472
O= 89,208,000 89,208
OS0tE 86,328,000 86,328
o=y 89,748,000 89,748
o=Zuzied 82,656,000& 82,656
OOlelLth 81,636,000 81,636




2A:

ZOHR!I= Xl

M ZOI=X S
SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
og=2 64,663,000& 64,663
oa 75,384,0008 75,384
O 75,372,000& 75,372
Os 81,924,000 81,924
oorn=E2d 74,232,000& 74,232
Os=sNgaII82d 80,340,000 80,340
Os=NgaAE2E 75,372,000 75,372
(@K1 SIFS 73,152,000& 73,152
OFEs 74,496,000 74,496
OdliztE 84,444,000 84,444
Hel2d HoAFAIE X3 (=) 801,506 765,566 35,940
= 160,301
Al 641,206
307 @120l & 801,506 765,566 35,940
=S 160,301
Al 641,205
10 Al SXAEEE 22X 801,506 765,566 35,940
OMel2d HHAHFAIE K&
801,506,000 801,506
< 160,301
Al 641,205
FAUQAAE 2HXRA(ZD) 1,821,000 1,574,066 246,934
= 1,274,000
< 182,100
Al 364,900
307 elztol & 1,821,000 1,574,066 246,934
= 1,274,000
== 182,100
Al 364,900
10 Al2ISTIAIEEE 22X 1,821,000 1,574,066 246,934
OFRAAE 24 1,821,000,000& 1,821,000
= 1,274,000
=S 182,100
Al 364,900
Zoje! Mage 29 (XH) 10,800 10,800
307 212+01& 10,800 10,800
11 AMEISXAEEES 10,800 10,800
OHMANFAIE HNES 2SXNE
2,160,000 *57H 2~ 10,800
SHSEC RN EAEY X2 (EH) 56,400 55,000 1,400
= 16,920
Al 39,480
307 gl2to| & 56,400 55,000 1,400




2A:

X XH -
o=

ZOHR!I= Xl
o= 23

SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 16,920
Al 39,480
11 AMEISXAEEES 56,400 55,000 1,400
OESLHULT TYLS 2EXE
56,400,000& 56,400
= 16,920
Al 39,480
UL HFAIE JISES 24,398 11,050 13,348
= 12,199
= 8,539
Al 3,660
402 2IZtA=01d 24,398 11,050 13,348
= 12,199
= 8,539
Al 3,660
02 QI X2 AL EE(0IHTHE) 24,398 11,050 13,348
OB HZFAIL JIS22H(0IHTR)
24,398,000 24,398
= 12,199
== 8,539
Al 3,660
ZOHRIHFAIE SIIFED| g XA(=1) 9,790 19,580 29,790
= 5,874
& 1,175
Al 2,741
307 glztol & 9,790 19,580 29,790
= 5,874
< 1,175
Al 2,741
11 AMEISXAEEES 9,790 19,580 29,790
OFMIHFAIE SIIEED| elg X&H
9,790,000 9,790
= 5,874
== 1,175
Al 2,741
SO HHTHEAIE JIs22(=1) 330,020 1,624,648 A1,204,628
= 165,010
== 115,507
Al 49,503
402 2I2FX=201H 330,020 1,624,648 A1,294,628
= 165,010
= 115,507
Al 49,503
02 RIENSASEEZ(0IETHR) 330,020 1,624,648 A1,204,628




2A:

ZOHR!I= Xl

3 Yo=K 2
SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O OHAXMNATHEAIL JIS2L(H4) 330,020
OdtsM(Ad=s &%) 178,000,000 178,000
= 89,000
& 62,300
Al 26,700
OZgtxAIAF(HFZ BAI| I[HFY)
152,020,000 152,020
= 76,010
= 53,207
Al 22,803
ZJOHAXSIHEAE 2 10,687,443 10,295,406 392,037
307 el2to| & 10,687,443 10,295,406 392,037
05 212t =S 701,761 690,063 11,698
ONQINANSBLAIL SAKIA(1h2) 701,761
OFFAZ AR X S ERIHES
701,761,000& 701,761
10 Al SXAEEHE2EHI 22X 9,985,682 9,605,343 380,339
OZOHAXATHEAIE 2SR (140 2) 9,985,682
Os=Zsa e 564,576,000 554,576
Os=sHed 785,496,000 785,4%
OZgxiAoE 872,024,000 872,024
OllldotRA 666,341,000 666,341
OLt=s2lH 696,686,000& 696,686
O&XNEEEdA 621,173,000& 621,173
OFFsgIUR . EF==otHl
659,770,000 659,770
o2zz2=23 1,349,355,000& 1,349,355
O0IE2IH 654,424,000 654,424
Odt=M 759,304,000 759,304
Oog#ol 669,442,000 669,442
O3 Zed=H 574,934,000 574,934
OFFLFel#E 802,935,000 802,935
OuSdaIZE 319,222,000& 319,222
OIS RIAIE =2AIE NS (KA 10,000 15,000 A5,000
201 ger= 3| 10,000 15,000 /5,000
02 S3=gHl 10,000 15,000 25,000
OZMHA=SXAIE AIERXIH
10,000,000& 10,000
ST HE(HE)E N 130,000 0 130,000
= 39,000
Al 91,000
307 elzto| & 130,000 0 130,000
= 39,000




2A:

X XH -
o=

ZOHR!I= Xl
o= 23

SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 91,000
11 AMEISXAEEXS 130,000 0 130,000
OSTEM X (HMEg)E X
130,000,000 130,000
== 39,000
Al 91,000
S2NSHAEHH 29 100,000 100,000 0
= 30,000
Al 70,000
307 elzto| & 100,000 100,000 0
= 30,000
Al 70,000
1 AMISXAIEEXS 100,000 100,000 0
O==RIIZEHAEMH 29
100,000,000& 100,000
== 30,000
Al 70,000
ZOHRISXIEH2 Sxd 1,100 1,100 0
201 er2 3| 1,100 1,100
01 At2teltl 1,100 1,100
(©)==ES g Lot NPE= 1,100,000& 1,100
STHHU NS HEHH 2S(S2HE ZHIFIH XIY) 120,000 60,000 60,000
= 36,000
Al 84,000
307 @20l & 120,000 60,000 60,000
s 36,000
Al 84,000
1 AR SXAIEE X 120,000 60,000 60,000
STHHAUNSHHEHE 2E(204H &
HIZ=OH X&) 120,000,000 120,000
& 36,000
Al 84,000
HHEZSHI(FHA=I) 29,388 40,052 10,664
Jl=23sl 29,388 40,052 10,664
JI23Hl 29,388 40,052 /10,664
201 =3 15,708 17,752 A2,044
01 At22t2l] 16,708 17,752 A2,044
OJ1=3dI(01=34l) 450,0002 14 6,300
O=gHI(01=2HI)
8,000 x 142 +7Lx 12 9,408
202 04dl 10,080 16,800 26,720
01 =LHNHI 10,080 16,800 6,720
O=UobI(O1=3HI)
20,0002 x 14 =32 x 12 10,080




SH: HOHQI=X Dt
Hu: By A

&2 J|2&| (EEEE))
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
203 PRF=&H| 3,000 3,000
M4 FA2ILRFAL 3,000 3,000
O©JIEAH(1521018t) 250,000& =123 3,000
405 XHAHE SHI 600 2,500 21,900
01 ML =EFSHI 600 2,500 21,900
OARE2THARXL) 300,000 *27H 600




20243 =0l LA SXEH ~ 2

FA 8IS
2 . dHHE
el Hd=As

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
G&ItEL 49,775,146 40,756,577 9,018,569
= 13,142,577
[ 350,845
Il 15,157,550
< 7,451,672
Al 13,672,502
e . A20t= 49,744,125 40,712,050 9,032,075
= 13,142,577
s 350,845
Il 15,157,550
= 7,451,672
Al 13,641,481
Heg=sxsd 5,398,517 5,499,472 /100,955
[ 360,845
Il 1,903,761
s 963,271
Al 2,180,640
MEHE X8 2 778,769 795,286 16,517
[ 350,845
= 182,000
Al 245,924
307 @120l & 778,769 795,286 A16,517
[ 360,845
= 182,000
Al 245,924
02 2IZHBYAIHE & 778,769 795,286 16,517
OMZ-lE 148,200,000 148,200
= 118,560
Al 29,640
oOXnYu=EH 94,000,000 94,000
[ 94,000
OMZdH 23| 276,569,000 276,569
[ 138,285
Al 138,284
OES gL HE X
260,000,000 260,000
= 182,000
Al 78,000
Hedd st Alxd 80,181 94,438 14,257
201 er=23y| 27,481 31,438 N3,957
01 AtR2t2|HI 27,481 31,438 A3,957

60,0003 #202 *90%

1,080
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AT HEIED
ZE: 018 AAINE
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEFHEXE J12 X3 37,200 12,000 25,200
= 11,160
Al 26,040
307 el2to| & 37,200 12,000 25,200
= 11,160
Al 26,040
02 QIZtEHAEE X 37,200 12,000 25,200
OMEHE SAL X<IH&Hl K&
10,800,000& 10,800
== 3,240
Al 7,560
OMYHE SAMA e X
26,400,000& 26,400
= 7,920
Al 18,480
Hdelenzd 249,938 329,700 INT9,762
s 74,981
Al 174,957
101 e124d| 249,938 329,700 ANT9,762
& 74,981
Al 174,957
M ORNZZ2NSE S 249,938 329,700 NNT9,762
O0geld el2dl S 249,938,000& 249,938
= 74,981
Al 174,957
JHEY20t0IESAEIA 283,200 365,900 AT2,700
307 gl2to| & 283,200 354,000 70,800
1 AMISXAIEEXS 283,200 354,000 70,800
S ELEERESY
271,200,000 * 100 £ 271,200
CRETEEEEEEE
400,0002 30 *13] 12,000
dalic] HEE SN 25,000 36,860 211,860
307 elztol & 25,000 36,860 211,860
02 2B YAIHE £ 25,000 36,860 211,860
Odgliel HEHESNE A
25,000,000 * 100 £ 25,000
O Q& ERHH AT A 31,000 33,000 /2,000
201 et 3| 31,000 33,000 A2,000
01 AtR2te|Hl 29,000 29,000 0
Ot ENH MHIA 2 H (8IHA)
29,000,000 29,000
02 S5=2g4l 2,000 4,000 /2,000




SN OEIIED
M od. AHIE
el od=Xsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCHA B MHIA AIZ & HI= XL
2,000,000& 2,000
dHESTAHAL 10,852 14,680 N\3,828
201 er=23y| 1,540 3,040 1,500
01 AtR2t2|HI 1,540 3,040 21,500
(Cl=Ea 1,540
oud 990,000 *1H 990
osg 300, 0002 *1H 300
Oa¥™ 50,0003 *5H 250
307 gl2to| & 9,312 11,640 N2,328
04 QIHHAIAIH 2 £ 9,312 11,640 N2,328
OdgESF2 A 9,312,000 12 9,312
Heeti=ld & A=l = 7,640 29,700 A22,060
307 212+01& 7,640 29,700 A22,060
04 QIZIHAIAIH E X 7,640 29,700 A22,060
OWEXNC=A clHY W=
7,640,000 *12] 7,640
HdeM=2g 44,765 45,815 21,050
307 elzto| & 44,765 45,815 21,050
02 2B YA E X 3,800 4,850 1,050
OWEZE0I21AF sAIY 2H=))|
3,800,000 * 10 2= 3,800
03 YIHHEE 22X 40,965 40,965 0
OFFANHEHAME S =2
40,965,000 * 11 £ 40,965
NS EHE2SH 29,596 20,758 8,838
307 glztol & 22,096 20,758 1,338
02 2IZHBHAIHE £ 22,096 20,758 1,338
OAIESHHZE
22,006,000 * 100 2 22,096
405 Atats = 7,500 7,500
01 ML ESFSHI 7,500 7,500
Ood=LIsItH =85+ 7,500
OAHIHA! 5,500,000 1CH 5,500
OdgE A 1,000,000 «1CH 1,000
OdzaIE(HO0IZE)
1,000,000 *1CH 1,000
HEUWLSHLLEEISEI W= 16,480 25,908 N9,428
201 fer= 3| 16,480 25,908 9,428
01 At 2|l 16,480 25,908 A9,428
O83E, 8%, 4010, I8 =S Hgus 3,360
OZ A= (S 1,500
= 300,000 #33] 900




SN IS

2 . dHHE

el Hd=As (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
-1 200,000& x32! 600
O8+2(E¥) 300,000 & *2JH 600
(@INE=JNI=3 2,000& ¥700*90% 1,260
OdQIX & dEISEI U=s 1,760
OZ A= (LBHZ) 350,000& *32! 1,050
O 70,0002 *3J4 210
(@INE=INI=4 10,0003 x50 500
OdEZEIIRIAS A
100,000&*10E*12] 1,000
odgdardIt 2488 HI=2 10,000
OZdl, dolXI0ZLHBAOIE ALE
40,0002 *17524 7,000
OHE AN g2 HLE
60,000 x50 3,000
OdsE - 458 NSAER U=
90,000 +4H 360
A= L H0H0H dlgws 3,000 4,750 A1,750
307 212+01 A 3,000 4,750 A1,750
11 AL =SXAMEES 3,000 4,750 A1,750
Od=Zg & JOH0H g =
1,000,000 300 & 3,000
NE=S Ok EsAld 2SR 272,876 337,027 264,151
| 191,013
& 40,932
Al 40,931
307 QI2Hol 272,876 337,027 264,151
| 191,013
& 40,932
Al 40,931
11 AL SXAMEES 272,876 337,027 264,151
OJIE =LA BESAIE SE X
272,876,000& 272,876
J| 191,013
& 40,932
Al 40,931
JIAZTIoHAF ESAIE Hla=Z2 XA 14,000 0 14,000
J| 14,000
307 212+01 A 14,000 0 14,000
| 14,000
11 Al =SXAMEES 14,000 0 14,000
ONEZSTIHA ESAIE == AHAAH Y|
14,000,000 14,000
| 14,000
I =S TIoHA AP =S| 2,143 0 2,143




2A:

X XH -
o=

Ol&ot=0t
od. 2205

el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,500
=S 322
Al 321
307 @I2to| & 2,143 0 2,143
Jl 1,500
= 322
Al 321
1 AMISXAIEEXS 2,143 0 2,143
OIS =HUIoHA MNP Ee|
2,143,000 2,143
Il 1,500
= 322
Al 321
JFE =S 2ESAIE &2 Al AEXES 25,000 0 25,000
Il 25,000
301 EtE N = 25,000 0 25,000
Jl 25,000
01 Al 2E A S(EREXME) 25,000 0 25,000
OJIE =TI ESAIE &l Al XHEA
23 25,000,000 25,000
Il 25,000
JIHEZHIIHA 2sAIE JIsEH 7,500 19,500 A12,000
Jl 3,750
= 1,875
Al 1,875
402 2I2F X201 & 7,500 19,500 212,000
Il 3,750
= 1,875
Al 1,875
02 QI X2 AL E R (01X THE) 7,500 19,500 212,000
OJIEZIIcHA ESAIE JIs22
7,500,000 7,500
Il 3,750
= 1,875
Al 1,875
HE=E Lok Agsls 2208 2 2l=d] A& 38,714 66,620 27,906
Il 27,100
= 5,807
Al 5,807
307 el2tol & 38,714 66,620 A27,906
Il 27,100
< 5,807
Al 5,807
11 AMEISXAEEES 38,714 66,620 N27,906




2A:
PSR
ool

GO =T
Ol H2UILE
PN

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ONIEEATNN A=2sl= D21
24,714,000 24,714
| 17,300
= 3,707
Al 3,707
OJIEZZTIoHA 2l =8| 14,000,0002 14,000
| 9,800
= 2,100
Al 2,100
ZSTIHHA FHXIE 2GX2 42,560 41,180 1,380
| 29,79
= 6,384
Al 6,384
307 2I2+01A 42,560 41,180 1,380
| 29,79
& 6,384
Al 6,384
1 ABIS XA EE 42,560 41,180 1,380
ZATHOS FHXY 29
42,560,000& 42,560
| 29,792
= 6,384
Al 6,384
ZHTINHE =HKE LdUESS 1,557 554 1,003
| 1,557
402 CI2HRH=0I 1,557 554 1,003
| 1,657
02 QIR AL B X (01 & THEA) 1,557 554 1,003
O=AWFHOIL FHNY YRS (A=
) 1,557,000 1,557
| 1,657
NEZHMES 29 146,711 141,280 5,431
| 73,356
= 36,678
Al 36,677
307 QIZ2t01 A 146,711 141,280 5,431
| 73,3%
& 36,678
Al 36,677
11 Al =SXAMEES 146,711 141,280 5,431
OJIEEd g 2Y 146,711,000& 146,711
| 73,356
& 36,678
Al 36,677
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SeagEs 22 214,418 212,412 2,006
Jl 107,209
== 53,605
Al 53,604
307 212+01& 214,418 212,412 2,006
7l 107,209
=S 53,605
Al 53,604
11 ARRIS XA E X 214,418 212,412 2,006
osgaEAs 29 214,418,000 214,418
Jl 107,209
= 53,605
Al 53,604
dEHaEL 2EXE 327,952 460,646 A132,694
Jl 163,976
= 81,988
Al 81,988
307 gl2to| & 327,952 460,646 A132,694
Jl 163,976
= 81,988
Al 81,988
11 AMEISXAIEEES 327,952 460,646 A132,694
Od=5adga 28N
327,952,000 327,952
) 163,976
= 81,988
Al 81,988
SEZHIo L ESAE 2EAA 620,229 609,631 10,598
Jl 434,161
= 93,034
Al 93,034
307 elztol & 620,229 609,631 10,598
Jl 434,161
[ 93,034
Al 93,034
11 AMEISXAEEES 620,229 609,631 10,598
OdZHMN ESAIE 2SR
620,229,000 620,229
Jl 434,161
< 93,034
Al 93,034
SZS oA+ A X2 14,139 13,947 192
Jl 11,139
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,500
Al 1,500
307 212+01 A 14,139 13,947 192
| 11,139
T 1,500
Al 1,500
11 Al SXAMEE X 14,139 13,947 192
OHEAWBHN ESAIE HISSX A
X3 14,139,000 14,139
| 11,139
& 1,500
Al 1,500
A= I XZ3s T2 )3 40,571 88,429 A47,858
| 28,400
& 6,086
Al 6,085
307 QIZ2t01A 40,571 88,429 A47,858
| 28,400
& 6,086
Al 6,085
11 AL =SXAMEES 40,571 88,429 A47,858
Od=g LloiAt Xzsls T2
40,571,000& 40,571
| 28,400
& 6,086
Al 6,085
A=5 IOloHAt 2l=hH| 2HEH| 50,944 49,721 1,223
| 35,661
& 7,641
Al 7,642
307 212+01™ 50,944 49,721 1,223
| 35,661
& 7,641
Al 7,642
11 AL SXAMEES 50,944 49,721 1,223
O&= Tlohk 2l=Zd| 298|
50,944,000 50,944
J| 35,661
& 7,641
Al 7,642
S=Z2UIHA ESAIE JIsEZ 1,000 26,076 A25,076
J| 500
T 350
Al 150
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402 QI2F X201 & 1,000 26,076 N25,076
Jl 500
== 350
Al 150
02 QI XH2AILEE (01X THE) 1,000 26,076 N25,076
OdZHMINA ESAIE JIsEL
1,000,000& 1,000
Jl 500
== 350
Al 150
odtetl|dE 2SI 556,610 490, 161 66,449
Il 389,627
== 83,492
Al 83,491
307 212+01& 556,610 490, 161 66,449
Jl 389,627
= 83,492
Al 83,491
1 AMISXAIEEX 556,610 490, 161 66,449
OdHHI2IME 2F X
556,610,000 556,610
7l 389,627
= 83,492
Al 83,491
g2 Uik =sHIE S N2 1,383 3,000 A1,617
Jl 968
= 208
Al 207
307 gl2to| & 1,383 3,000 1,617
Il 968
= 208
Al 207
11 MEISXAEE 1,383 3,000 A1,617
Ol At FULlI=S 1,383,000& 1,383
) 968
& 208
Al 207
SIOHOHIIOH At &84 =29 190,280 183,550 6,730
) 95,140
= 47,570
Al 47,570
307 glztol & 190,280 183,550 6,730
Jl 95,140
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< 47,570
Al 47,570
11 AMEISXAEEES 190,280 183,550 6,730
OHDHOIoH Kt &4 29
190,280,000& 190,280
Il 95,140
== 47,570
Al 47,570
SOHOHIIOH Kt KIRAIE2S 243,641 235,209 8,432
Jl 170,549
[ 36,546
Al 36,546
307 glztol & 243,641 235,209 8,432
Il 170,549
== 36,546
Al 36,546
11 AMRISXAEEES 243,641 235,209 8,432
OHMHOHIOH At XIFAIE 2
243,641,000 243,641
Il 170,549
s 36,546
Al 36,546
SONOHTLIOH Kt AKX AL 40,603 73,766 A33,163
Il 28,422
=S 6,091
Al 6,090
307 21201 & 40,603 73,766 A33,163
Il 28,422
= 6,091
Al 6,090
11 MEISXAEE 40,603 73,766 A33,163
O OHOHIION At X3 AFE
40,603,000 40,603
Jl 28,422
= 6,091
Al 6,090
SOH0H WolotsaEAE SN 127,882 125,530 2,352
Il 63,941
= 31,971
Al 31,970
307 el2to| & 127,882 125,530 2,352
) 63,941
= 31,971
Al 31,970
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1 AR S KIA 127,882 125,530 2,352
OdONH WolotSEAE NSHERRAHE
23 127,882,000& 127,882
Il 63,941
< 31,971
Al 31,970
AEUGIA Xg2ls 2208 10,000 0 10,000
Jl 7,000
[ 1,500
Al 1,500
307 lztol & 10,000 0 10,000
Il 7,000
== 1,500
Al 1,500
11 AMRISXAEEES 10,000 0 10,000
OAEWGHA XESE T2
10,000,000 10,000
Jl 7,000
s 1,500
Al 1,500
HE=H2EAE HRIMEH 13,200 13,200 0
& 3,960
Al 9,240
307 lztol & 13,200 13,200 0
= 3,960
Al 9,240
1 AMEISXAEEXS 13,200 13,200 0
O g=H2SAE SALAL XA
13,200,000 13,200
=S 3,960
Al 9,240
Hd=5 2d AlE 2gd] X 13,200 99,600 /86,400
< 3,960
Al 9,240
307 glztol & 13,200 99,600 86,400
= 3,960
Al 9,240
11 AMEISXAIEEXS 13,200 99,600 86,400
O0&=e 2HAIE 28 X
13,200,000 13,200
=S 3,960
Al 9,240
ZHUloH X2AE SAHL XA 478,765 0 478,765
< 143,630
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Al 335,135
307 gl2tol & 478,765 0 478,765
=S 143,630
Al 335,135
11 ARRIS XA E X 478,765 0 478,765
O==loH XNHAIE SA MM
478,765,000 478,765
< 143,630
Al 335,135
HEZ A2 E A=Y K2 60,000 60,000 0
307 elztol & 60,000 60,000
1 AMEISXAIEEXS 60,000 60,000
O=sxYY 29
60,000,000 *1IH £ 60,000
Hg12017 QHEEME X2 At 16,100 20,000 A3,900
201 et 3| 900 1,000 A100
01 At22t2l] 900 1,000 A100
OAMENE K2 A 882
2,500& x2E+200F+90% 900
301 LEtE NS 15,200 19,000 23,800
03 A2 E A5 2 (XL THH) 15,200 19,000 A3,800
O g1l HEME XIH
190,000 +80H 15,200
A HES8HH 22 206,918 206,157 761
307 @120l & 201,918 201,918 0
05 glt?(& = 201,918 201,918 0
Oou=g8dH 29 201,918,000 201,918
405 KHakE SH 5,000 5,000
01 AL =S F=H 5,000 5,000
OHICI2EZZ HFH 2,500,000 = 1CH 2,500
OLE= 1,500,000 *1CH 1,500
OZ A A 1,000,000 «1CH 1,000
ZEHENE ABZAL HP2ES 22,000 0 22,000
207 ARl 22,000 22,000
01 A S| 22,000 22,000
OZEHENY AEHEAI HTEH
22,000,000 22,000
elREM A 2H 7,120,726 2,504,191 4,616,535
= 2,794,900
Al 4,325,826
QY AR 17,999 21,275 13,276
201 fer23| 17,999 21,275 N3,276
01 AtR2t2|HI 17,999 21,275 A3,276
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oI AL CHHMIL S MZ 10,649
OJt=ETe UC UIER T 44K &
6, 0002 *3500H*90f% 1,890
OI1E& s UC UIERD M &E0I2 S
NS 400,000 *50H 2 2,000
OI15gls UIC WIER A It5alet s &
A= 120,000& * 122 1,440
OI1&&ls UIC WERD =& s M
=] 80,0002 *122|*90f% 864
OHZEQOIC M M
5,500 *9002 *90% 4,455
OFFANEIIE 25 & E2E A 6,300
OIt=M 2 1,00024+5,000Z *90% 4,500
OZE= MH 200& %10, 0000H*90% 1,800
OMSAM DA AL MRS 2 1,050
Os4=g 100,0003*7& *13] 700
OdAt=g 50,0002 x7H*13] 350
HO0HlE #IHES 30,000 40,000 10,000
201 eer23| 30,000 40,000 10,000
03 A= SHI 30,000 40,000 10,000
OF=F0tlh, #HES Nz
10,000, 0002 x32! 30,000
JEEAE AgEa A 14,000 17,000 A3,000
201 223 10,000 13,000 23,000
01 AtR2t2lt] 900 0 900
QIIEAY NEsd S22 MA
100,000&*9& *13] 900
03 A=Y 9,100 13,000 A3,900
OII=AE Xgs2 AL
9,100,000& %12 9,100
301 EetE NS 4,000 4,000
14 0Bt 2as 4,000 4,000
OJIEAME X982 S2H Alaa
4,000,000& 4,000
HUE ZEH 23 ZLH(SS}EZESH) 1,853,000 1,749,240 103,760
= 926,500
Al 926,500
301 EtE NS 1,853,000 1,749,240 103,760
= 926,500
Al 926,500
02 A2 H -GS (FHAAHS, NSWE) 1,853,000 0 1,853,000
OHYSZELHZIATH(ESH=ZES
A 1,853,000,0002 1,853,000
== 926,500
Al 926,500
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=R UCC UIERD |38 12,000 17,000 25,000
201 er23 | 12,000 17,000 25,000
03 ALY 12,000 17,000 /5,000
OJt=EZ e UC UIERD /A3E
12,000,000 *12] 12,000
BRI (COM. %0. )02 XI¥ At 19,597 29,023 N9,426
101 21AH| 5,837 8,543 N2,706
04 JIZtN2Z2 XS 2+ 5,837 8,543 A2,706
OBX 012 EST20Y 29 HUN &
= 9,860 *3A| 2H*4 & ~48L 5,680
OCAES 157
OunE:es 5,680,000& *1.75% 100
O4t=Es 5,680,000 *1.00% 57
201 et 3| 13,440 20,160 N6,720
01 AtR2tc|Hl 13,440 20,160 26,720
o= Ol ESZ208 2AME
35,0002 #2A| 2+*483 4 A 13,440
301 EtE NS 320 320
11 dALEEIXIZE S 320 320
O&X% Ot B0 A A3E HAl
16,0003 20 320
Ness F8is S0 X3 400,130 411,553 N2,423
101 212A4H| 9,130 11,553 N2,423
04 JIZtN2 2N S 2+ 9,130 11,553 N2,423
OKNERR =8XTt= HWE0IX XZAAS 9,130
OelAt| 78,8802 x2H 26 L x2 8,204
O4i2E JI2RY= 926
-HIdEE= 8,204,000 *3.545% 291
-HIQAEE= 291,000 %12.81% 38
=8l 8,204,000 *4.50% 370
-1ELE 8,204,000 *1.75% 144
~SHEE 8,204,000& *1.00% 83
301 LEetE N = 400,000 400,000
03 A2 H A0S (XILTHH) 400,000 400,000
OUIERE =813 UWE0IA K&
1,000,000 *4000 2 400,000
CEEE gt SO0t=A XIE 94,000 209,100 115,100
206 M=l 94,000 204,000 110,000
01 M= H| 94,000 204,000 A110,000
oAM= 20,0002 * 12 =4, 700K 94,000
SM=0g & 4,671,000 0 4,671,000
= 1,868,400
Al 2,802,600
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 4,671,000 0 4,671,000
= 1,868,400
Al 2,802,600
03 A2 E A0 Z2 (XL THH) 4,671,000 0 4,671,000
OBAS0IEY X8
1,000,000& 4,671 *13] 4,671,000
=S 1,868,400
Al 2,802,600
BRI IS 37,224,882 32,708,387 4,516,495
= 13,142,577
) 13,253,789
= 3,693,501
Al 7,136,015
Rotgo =2 10,212,000 8,892,000 1,320,000
= 7,659,000
[ 766,000
Al 1,787,000
301 LEIE NS 10,212,000 8,892,000 1,320,000
= 7,659,000
== 766,000
Al 1,787,000
01 Al 2E AT S(SREXME) 10,212,000 8,892,000 1,320,000
oxgtgolEa 10,212,000,000& 10,212,000
= 7,659,000
= 766,000
Al 1,787,000
SRR MHHALSHl € X (0ts2=HI) 14,075,124 12,869,303 1,205,821
Jl 11,260,100
= 1,407,512
Al 1,407,512
301 EtE NS 14,075,124 12,869,303 1,205,821
Il 11,260,100
= 1,407,512
Al 1,407,512
01 Al EE A S (2 RDEXMR) 14,075,124 12,869,303 1,205,821
OSR2ItE MHUL=Hl S N (0SSR
Bl) 14,075,124,000 14,075,124
Il 11,260,100
= 1,407,512
Al 1,407,512
HAEERE U (0tS2=H) 82,831 121,504 38,673
Il 66,265
= 8,283
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Rl DRI IsEY EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 8,283
301 LPBNF 82,831 121,504 A38,673
| 66,265
& 8,283
Al 8,283
01 A BE X2 (R REETHA) 82,831 121,504 A38,673
OFAHSIER I XA (0ISL=H| S)
82,831,000& 82,831
| 66,265
& 8,283
Al 8,283
SHREIE SXAY AT A . Xz X3 32,800 32,000 800
J| 16,400
& 11,480
Al 4,920
307 212+01 ™ 32,800 32,000 800
| 16,400
= 11,480
Al 4,920
11 AR SXAMEEER 32,800 32,000 800
OBIR2IIE SAAE 241 & . XZh|
X3 32,800,000 32,800
| 16,400
= 11,480
Al 4,920
SIREEIIE =SXAI4 OolE=sMElIA XIJ 29,266 30,715 A1,449
| 20,486
= 6,146
Al 2,634
307 QIZ2t01 A 29,266 30,715 A1,449
| 20,486
= 6,146
Al 2,634
11 AMSIEXAEEX 29,266 30,715 A1,449
Ot 2ItE SXAE 0t0I=s Ml X
& 29,266,000 29,266
| 20,486
& 6,146
Al 2,634
SSHEDIEE(HYLA) F=AHXA 55,144 70,280 A15,136
| 55,144
307 QI2tol 55,144 70,280 A15,136
J| 55,144
1 ASI=SXAIEEE 55,144 70,280 A15,136
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NI A AHUIE
il (crel: &8
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORSMEIIEE(NLLT) =AK
55,144,000& 55,144
Jl 55,144
SIRIIIE SXAE AIRERRE o1E ZH| 42,380 36,490 6,890
Il 42,380
301 Eet2 NS 42,380 35,490 6,890
Il 42,380
0 AlR=R222as 42,380 35,490 6,890
OB=DIIE SXNE NEZERH oI
=Ll 42,380,000& 42,380
) 42,380
SR EILE el X1 (&HI) 448,147 547,400 A99,253
= 134,444
Al 313,703
301 EtE NS 448,147 547,400 A\99,253
= 134,444
Al 313,703
02 ANRI2HHSFS(HAAS, NLHE) 448,147 547,400 199,253
OstRZIIE H&dl X
448,147,000 448,147
[ 134,444
Al 313,703
SIRZIIE=IANE 29 671,001 639,742 31,259
307 elztol & 671,001 639,742 31,259
10 Al SXAAEEHE 22X 671,001 639,742 31,259
OSIR2ItE SIAE 2 (3MHA) 671,001
OF=i80ts 2& 427,501,000 427,501
OFFWCAY S 29F 108,500,000 108,500
OMUSIIAME 23 135,000,000 135,000
ol E0lE 2SN 4,000 5,000 A1,000
307 elztol & 4,000 5,000 A1,000
04 CIZHHAMAIH 2 & 4,000 5,000 21,000
OFFoE0= SRS B
4,000,000 4,000
SUESAE ElAX HEEES XH 9,000 18,000 29,000
301 Eet2 NS 9,000 18,000 /9,000
02 ARSI S2E AT S(FIANS, XLETHE) 9,000 18,000 29,000
ORXNESAIE 4K THEHERS X
3,000,000 *3H 9,000
SHERIIENUSI s8N 12,000 16,000 24,000
301 LENZ 12,000 16,000 24,000
02 A2 XSG (FHAAHS, W) 12,000 16,000 24,000
OBt 2IHE MU= Jl=2& X2l
2,000,000 6% 12,000
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SIREEIE SIAE JIsEd X 18,870 0 18,870

| 9,435
T 6,605
Al 2,830
402 QIZ2HRt=01H 18,870 0 18,870
| 9,435
T 6,605
Al 2,830
02 QI EAEEE(OIMTHE) 18,870 0 18,870
OSIREZINESIAILE JIsEY NA(BX)
18,870,000 18,870
| 9,435
T 6,605
Al 2,830
HAUEURE Ot=s2=sH| K& AlEAE 120,000 235,200 A115,200
= 60,000
& 18,000
Al 42,000
301 LB F 120,000 235,200 A115,200
= 60,000
& 18,000
Al 42,000
01 AISIBEH 2GS (2 UETME) 120,000 235,200 A115,200
OHAEHRZ Ots2=H| X2 (AEA)
120,000,000& 120,000
= 60,000
& 18,000
Al 42,000
ZZTIH0IF0HAE BESAIE 2SR 265,385 266,767 1,382
| 185,770
& 39,808
Al 39,807
307 212+01™ 265,385 266,767 A1,382
J| 185,770
= 39,808
Al 39,807
10 AISIS XA EEE2IHIE X 265,385 266,767 A1,382
OZdIlol 0IFHE EsAd 29
265,385,000& 265,385
| 185,770
= 39,808
Al 39,807
ZHTIH0IFHAEAESAIE ElA Al HEXRAZ 13,000 0 13,000
| 13,000
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301 Yt 13,000 0 13,000
p] 13,000
NEEEEP EIER EESTE)) 13,000 0 13,000
OZATsH 0108 BSAIL &4 KEIX
232 X2 13,000, 0002 13,000
p] 13,000
Z21o) 01018 2SAIM ANBY 2,091 5,000 £2,909
p 1,464
= 314
Al 313
400 QI2ERHZ0IH 2,001 5,000 ~2,909
p] 1,464
= 314
Al 313
02 BIZIXH2 A B (O1M THE) 2,001 5,000 £2,909
OZI|5H 015018 BSAIE ANBY
2,091,000 2,091
p] 1,464
= 314
Al 313
Z20|6H 01014 AEA SIS 263,522 255,428 8,09
p] 131,761
= 65,881
Al 65,880
307 8I2t0I & 263,502 255,428 8,094
p] 131,761
= 65,881
Al 65,880
10 AtBl S RAI S EE 2R B 263,502 255,428 8,09
OZIIsH 01F0i4 AA SIXHA
263,522,0002! 263,522
p] 131,761
= 65,881
Al 65,880
HEADISME ASRH SAH] 4,992 4,942 0
201 g2 4,942 4,942
2 T2 4,942 4,942
OFZADISHE AEXHIK|
1,329%1%3,718. 28" 4,942
JbEelg #AL NI 16,000 20,000 £4,000
307 8I240| M 16,000 20,000 £4,000
04 DIZFHALAII B X 16,000 20,000 4,000
OJI=AY BH0IY BAH
16,000, 00024 %15 16,000




2A:
X XH -
o e

=aak

Bl
014 A2t
I.

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O0I=8 NIAAY 7,747,968 5,977,117 1,770,851
= 5,423,577
= 697,317
Al 1,627,074
307 QIZ2t01 A 3,047,968 2,377,117 670,851
= 2,133,577
= 274,317
Al 640,074
11 AL =XAMSES 3,047,968 2,377,117 670,851
Ooot0l=s KNAA 3,047,968,000& 3,047,968
= 2,133,577
& 274,317
Al 640,074
308 AXISHMSOIA 4,700,000 3,600,000 1,100,000
= 3,290,000
& 423,000
Al 987,000
13 BII2SOICHEH B A X LEALIH] 4,700,000 3,600,000 1,100,000
O00IEE K& A 4,700,000,000& 4,700,000
= 3,290,000
& 423,000
Al 987,000
OISSXJHE SAA ML 9,600 10,800 21,200
= 3,840
Al 5,760
307 QI2tol 9,600 10,800 A1,200
= 3,840
Al 5,760
11 Al SXAMEE R 9,600 10,800 21,200
OOHISSXIJHEH SAHA MIM&L]
9,600,000& 9,600
& 3,840
Al 5,760
Is=H0lLsH 29 283,560 275,970 7,590
J| 141,780
& 99,246
Al 42,534
307 212+01 A 283,560 275,970 7,590
| 141,780
= 99,246
Al 42,534
11 AL SXAMEEER 283,560 275,970 7,590
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CEEETNEEEEIGES)
283,560,000 283,560
Jl 141,780
[ 99,246
Al 42,534
CHE3HS XIS Atel =X 7,430 21,030 213,600
201 Ler2&| 1,000 2,600 A1,600
01 At2teltl 1,000 2,600 21,600
OAFSRII0] L, 212 BRI M
100,000 %10 1,000
307 @12t0| & 6,430 18,430 212,000
04 QIZHHAMAIH 2 £ 6,430 18,430 A12,000
OU2tHE AL 6,430,000& 12 6,430
BFADIEHH 22(=21) 1,551,030 656,060 894,970
Il 775,515
s 232,655
Al 542,860
307 @I2t01 & 1,551,030 656,060 8%4,970
Jl 775,515
= 232,655
Al 542,860
05 212t =S 1,551,030 656,060 894,970
OALINE - U2SINEAME 2
1,5561,030,000& 1,551,030
Jl 775,515
= 232,655
Al 542,860
O2eEEREH 22 (20) 257,220 209,340 47,880
Il 128,610
= 38,583
Al 90,027
307 gl2to| & 257,220 209,340 47,880
) 128,610
= 38,583
Al 90,027
05 21t =S 257,220 209,340 47,880
OUZSIIEXNAME 23 ()
257,220,000 257,220
Jl 128,610
= 38,583
Al 90,027
CHEStEX M2 (RHH) 80,000 80,000
307 el2to| & 80,000 80,000
1 AMEISXAIEEXS 80,000 80,000




D EIEDL
N E- el =

DOED I SEY

- J

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OLI2EDIEXRME D212 2K (Y
=) 50,000,000 *1JH 2 50,000
OU2sIIEXJAME Z2 8 2IXA(H
&) 30,000,000 *1JH 2 30,000
CHE22IE R EEH SAA M4 | 20,400 20,400 0
= 8,160
Al 12,240
307 212+01 A 20,400 20,400 0
& 8,160
Al 12,240
11 AL SXAMEER 20,400 20,400 0
OUSSIIIEXJAEE SALAH HRIMABI
20,400,000 20,400
& 8,160
Al 12,240
CI2sts SHAXIR(=H]) 32,813 31,788 1,025
= 13,125
Al 19,6838
307 2I2+01A 32,813 31,788 1,025
= 13,125
Al 19,688
11 AR SXAMEER 32,813 31,788 1,025
OCI23IE SHAXA(HI)
32,813,000 32,813
& 13,125
Al 19,688
ClE2tE S43 At 811,358 915,061 A103,703
| 405,679
& 121,702
Al 283,977
307 212+01™ 811,358 915,061 A103,703
| 405,679
& 121,702
Al 283,977
11 AL SXAMEES 811,358 915,061 A103,703
OUZ3ItE S43t A (E=F)
401,746,000 401,746
J| 200,873
& 60,261
Al 140,612
OL23ItE S43t At (EH)
409,612,000& 409,612
| 204,806
& 61,441
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Ol&ot=0t
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-

Rl DRI IsEY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 143,365
AHSIIELE MY A 40,000 40,000 0
== 12,000
Al 28,000
307 212+01& 40,000 40,000 0
< 12,000
Al 28,000
11 AMEISXAEEES 40,000 40,000 0
OBZINIENEAHIA(FF)
20,000,000& 20,000
= 6,000
Al 14,000
CLERIEI=YRIENE-E)
20,000,000& 20,000
< 6,000
Al 14,000
SSFO0ILIsH SAEL MIHEH| 6,000 6,000 0
= 2,400
Al 3,600
307 elzto| & 6,000 6,000 0
= 2,400
Al 3,600
1 AMISXAIEEX 6,000 6,000 0
OBS=0tLIsH SAHA XM
6,000,000& 6,000
< 2,400
Al 3,600
AY2LZHI(KEIHED) 31,021 44,527 213,506
S22l 4,075 3,943 132
JIEAE = 4,075 3,943 132
101 21A4H| 4,075 3,943 132
02 JIEtAE = 4,075 3,943 132
QA2 RS (LS IIH)
11,3192 x 1 +30A1 2t 122 4,075
=3l 26,946 40,584 213,638
Jl=3H] 26,946 40,584 213,638
201 er23| 14,586 16,484 1,898
01 At2tltl 14,586 16,484 1,898
OJl=g 83| 450,000 13H 5,850
ozgt(01=2dl)
8,000« 13 +7x 12 8,736
202 04| 9,360 15,600 N\6,240
01 =LHOLI 9,360 15,600 26,240
OJ|=Z2H4l 20,0003 1332« 12 9,360




A HESED
M HY2IZH(HEIIE)
Chel: J1=2 &l EEREE
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2

203 PRF=&H| 3,000 3,000

M4 FA2ILRFAL 3,000 3,000

©JIEA4 (152! 0l5t) 250,000& =123

3,000
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69,265,783
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S
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=

93,750,536
47,730,734
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30,563,278

93,961,522

210,986

109,287

66,391

42,896
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55,420

210,110
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350,000& *42

70,000 *1H
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3,000 *3007H+90%

at
=

70,0003 = 17K

ZHAHHI

80,000& +802

3,500&=1,000H

AL
g

00,0002 102 +23]
AMAN 2

0,000 * 102 %22
|.

[Ox)

00,0003 x3& %42
A g
50

,0002 «3E 42|

24,310
1,470

1,400

70
7,280
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3,500
3,500
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2,000

1,000

1,200

600

30,420
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el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOIE&02 s BAST
20,0002 *30 *102] 6,000
OHNStA BIIRIES HA+H 1,260
oJlzz 100,0003 *7& *13] 700
(@ESNx=3 30,0003 *7&*13] 210
O&NHel E4+¢ 50,000 713 350
2 s5=34l 5,000 5,000 0
OOtsal otz Al NLEFE2Z 2]
5,000,000& 5,000
03 A= 16,000 20,000 24,000
OOtSEHH AR 2¢ 8,000,000& 8,000
OO0ts &3 Mgt etite 8,000,000& 8,000
203 HR=H| 1,800 2,000 A200
03 A=A FAIH| 1,800 2,000 A200
O8et ¥ OlsTat=Al =4 MY =8
2,000, 0002 *90% 1,800
207 ARl 55,000 0 55,000
01 ARSI 55,000 0 55,000
OOtSZBEAl 28 AFEY
55,000,000 55,000
301 EtE NS 720 900 A180
11 dALEEIXIE S 720 900 A180
OOISEHOM AR FAX 2HAH]
3,000& 24 x 102 720
307 gl2to| & 6,457 8,071 N1,614
02 2B YA AR A 6,457 8,071 A1,614
Oo0tsdel 2UHEH 29
6,457,000 6,457
2 =01t 29 88,000 0 88,000
201 =3 88,000 88,000
03 A2 I 88,000 88,000
o =0l 88,000,000 83,000
elole AL 57,110 71,200 214,090
201 er2&| 1,350 1,500 A150
01 At2teltl 1,350 1,500 A180
Oooglold &
10,0002 *150JH*90f% 1,350
307 @I2t01 & 55,760 69,700 213,940
04 GIZHSHALAL 55,760 69,700 213,940
O0E0le A 55,760
OHMI023] ofglolg J18 H=0{elol 2&X
48,000,000 48,000
02024 == 0lglold 28X
7,760,000& 7,760
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025,808
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256,452
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—
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256,452
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1,121,480
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256,452
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168,000
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42,000

188,000

220,000

307 212+01™

SRR

168,000
84,000
42,000
42,000

188,000

/20,000

05 glzt?(& =

OUIEHSSHH 2SI (14002)

168,000,000

SRR

=

168,000

168,000
84,000
42,000
42,000

188,000

/20,000

SRR

=

47,280
23,640
11,820
11,820

44,482

2,798

307 212t01™

SRR

=

47,280
23,640
11,820
11,820

2,798

o OH
z
m
0
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GAIZE HEXA 23|

47,280,000

SRRE]]

47,280

47,280
23,640
11,820
11,820

44,482

2,798

175,940

246,010

/70,070

7,940

6,010

1,930
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(s O == N DA Rl v EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 3,940 2,010 1,930
OHFA NASSHAM BIOIFASE
100,000 8L »23] 1,600
OUENSSHH =EA 442 &
s 130,000 x9& »23] 2,340
® 2=2H| 4,000 4,000 0
OUBNS=ZHE SX24+
4,000,000 4,000
307 elzto| & 168,000 240,000 A72,000
05 212t =S 168,000 240,000 AT72,000
otENsSsSHE 2SHI(129H2)
14,000,000 * 1290 2 168,000
OlE=XAE 24 8,338,998 8,148,698 190,300
307 @I2t01 & 8,338,998 8,148,698 190,300
EENNEEEEETEES 8,338,998 8,148,698 190,300
OOIS=TIAIL 22| 8,338,998
OsZE0IS 29|
1,655,224,000& 1,655,224
O&E==012 24l 1,904,907,000& 1,904,907
Os=dsEsa 24|
2,534,699,000& 2,534,699
Osl g 2| 1,978,361,0002! 1,978,361
OBUNMER 2|
265,807,000& 265,807
2IS0ts 188 22X 1,752,120 1,851,070 201,050
= 700,848
= 525,636
Al 525,636
307 elzto| & 1,752,120 1,551,070 201,050
= 700,848
[ 525,636
Al 525,636
10 Al2ISTIAIEEE 22X 1,752,120 1,851,070 201,050
OREsS0ts 158 29HI(13044)
1,752,120,000& 1,752,120
= 700,848
< 525,636
Al 525,636
RESOE 88 22l fE2(SSH) 225,509 225,509 0
= 67,653
Al 157,856
307 el2tol & 225,509 225,509 0
= 67,653
Al 157,85
10 AlISXAZEE 22X 225,509 225,509 0




2A:

X XH -
o=

=aak sA0lgrxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OREs0ts I8 22l 252(S2H)
225,509,000 225,509
= 67,653
Al 157,85
SSHEIFE(OES) ¢l XA 9,000 8,500 500
307 @12t0| & 9,000 8,500 500
11 ARRIS XA E X 9,000 8,500 500
OE& Hgtl 500,000 * 189K 2 9,000
OlS=XIAIE dgd X 17,800 18,000 A200
307 glztol & 17,800 18,000 A200
11 AMEISXAEEES 17,800 18,000 A200
OOtS=AAIL HLH(XIH0tSHEH, 1ES
) 100,000 «22 *890H 2~ 17,800
OlsEXIAIE Ols MEsstl 7,650 8,250 2600
307 gl2to| & 7,650 8,250 2600
1 AMISXAIEEXS 7,650 8,250 A600
OO0IS=AAIE OlsHEsstl 7,650
OOtsS=AIE 900,000 #4042 3,600
O1Es 225,000 * 187K 2 4,050
HIBSAIEES AEHZAL 1,298 1,170 128
201 er2&| 1,298 1,170 128
01 At2teltl 1,298 1,170 128
OAIE= 2HZA BEE
432,440 3 1,298
ANEO0tSE LA X2 45,600 48,420 A2,820
== 18,240
Al 27,360
307 212+01& 45,600 48,420 2,820
< 18,240
Al 27,360
11 AMEISXAEEE 45,600 48,420 2,820
OAlE0ts DM XI&(237Y)
45,600,000& 45,600
= 18,240
Al 27,360
fOIDMEOISE=S 25,200 25,957 AT
== 10,080
Al 15,120
301 22N = 25,200 25,957 ANT57
[ 10,080
Al 15,120
02 MBI 2EHSFHS(HAANS, XLHE) 25,200 25,957 ANT5
ORIIIIEotsE25(30Y) 25,200,000 25,200
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< 10,080
Al 156,120
OrsS2E X2 A%t 2,974,8% 1,220,996 1,753,899
= 2,082,427
== 267,740
Al 624,728
301 EtE NS 2,974,8% 1,220,996 1,753,899
= 2,082,427
== 267,740
Al 624,728
01 Al 2E A S(SRNEXMH) 2,974,8% 1,220,996 1,753,899
OCIEMASE XI&(3,346)
2,974,895,000& 2,974,8%
= 2,082,427
== 267,740
Al 624,728
HE0tSESH] 144,000 27,000 117,000
= 100,800
s 12,960
Al 30,240
301 EtE NS 144,000 27,000 117,000
= 100,800
= 12,960
Al 30,240
01 Al EE A S(FRNEXA) 144,000 27,000 117,000
OXZOotsESHI(12Y) 144,000,000& 144,000
= 100,800
= 12,960
Al 30,240
or=sE3al 6,000 6,000 0
= 4,200
= 540
Al 1,260
301 EtE N = 6,000 6,000 0
= 4,200
S 540
Al 1,260
01 AR E2EHSFS(RRNEERTHE) 6,000 6,000 0
O0ls8372HI(100t8) 6,000,000& 6,000
= 4,200
& 540
Al 1,260
AEEHEE e 1,440,000 1,248,000 192,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,152,000
=S 86,400
Al 201,600
301 EetE2 NS 1,440,000 1,248,000 192,000
= 1,152,000
= 86,400
Al 201,600
01 Al EE AT S (2 RDEXA) 1,440,000 1,248,000 192,000
OXEEHIEE THg+=2(240Y)
500, 0002 x240E 122 1,440,000
= 1,152,000
= 86,400
Al 201,600
A0S NEXE 24,600 35,600 211,000
= 17,220
= 2,214
Al 5,166
307 el2to| & 24,600 36,600 A11,000
= 17,220
= 2,214
Al 5,166
11 AMEISXAEEES 24,600 36,600 211,000
OZAEOtES K XIH(24Y)
24,600,000& 24,600
= 17,220
= 2,214
Al 5,166
LLHI S 3,700 3,697 3
) 2,590
= 333
Al 7
301 EtE NS 3,700 3,697 3
Jl 2,590
== 333
Al r
01 ARSI 2E AL S(SREXMH) 3,700 3,697 3
2 HIEXIR (2Y) 3,700,000 3,700
Jl 2,590
=S 333
Al 7
gAols s 388,800 427,200 /38,400
Jl 272,160
=S 34,992
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4,549
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
p] 15,162
= 1,949
Al 4,549
01 ARRIZE XA Z(2D2Z) 21,660 26,310 4,650
OFOIS L YAITE2(3Y)
21,660,000 21,660
Il 15,162
= 1,949
Al 4,549
IIE US| 775,200 897,600 A122,400
301 YR X Z 775,200 897,600 A122,400
R ARISERLHZ(FAHS, NLH) 775,200 897,600 2122,400
OJIHASLSIIA
340,002 *190Z * 122 775,200
NS HE2S (XS 2E3) 283,650 266,136 17,514
308 XtXIEHH SOl 283,650 266,136 17,514
07 RIXISHHIZFR 2 283,650 266,136 17,514
OJIYASXAHEH 29
283,650,000 283,650
AT JAME RS (RXSH 2E2) 9,116 8,305 811
308 XIXIEHAI SOl 9,116 8,305 811
07 RIXISHRIFR &2 9,116 8,305 811
O YA AHE HRAH(1Y)
9,116,0002 9,116
Ots+g X2 (21) 53,906,824 56,871,502 A2,964,678
2 43,125,459
[ 3,234,409
Al 7,546,956
301 YL A Z 53,906,824 56,871,502 2,964,678
2 43,125,459
= 3,234,409
Al 7,546,956
01 ARRIZEEAHZ(2D2ZTE) 53,906,824 56,871,502 2,964,678
Oots+g S04(45,100)
53,906,824,000 53,906,824
2 43,125,459
= 3,234,409
Al 7,546,956
OISSAX(BZ 6,927,210 7,014,280 N87,070
301 YLEEAZ 2,835,000 2,988,000 153,000
R ARSI Z(FAHS, L) 2,835,000 2,988,000 153,000
OOISZAXI & (LEHE)
9,0002 3,500 *0Y 2,835,000
307 QU201 A 4,002,210 4,026,280 65,930
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(s O == N DA Rl v EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 4,092,210 4,026,280 65,930
OOtsSSANA(MLSIHE0LS)
9,000 6 *3652! 19,710
OOtsSsSA XA (XotSHH)
9,000&+1,810F 250! 4,072,500
Ots=4A!l AR (8DIS) 2,992,500 3,154,000 A161,500
== 2,992,500
301 EtE2 NS 2,992,500 3,154,000 /161,500
S 2,992,500
02 MBI 2HHSFHS(HAANS, XLHE) 2,992,500 3,154,000 /161,500
Oots=Z4!l SN (EIIS)
9,000 #3,500H x5 2,992,500
= 2,992,500
Ols=4fRs 29 1,200 1,200 0
201 er23| 1,200 1,200
01 At2tltl 1,200 1,200
OFFAOISSARIRE Bu4T
100,000 6 »23] 1,200
NEELOIS S ANEAH 300,000 500,000 200,000
301 EetE2 NS 300,000 500,000 A200,000
02 ANRI2HHSFS(HAAS, XNLHE) 300,000 500,000 £200,000
OAIMEIA0IE S KBTS S(0Y)
300,000,000 300,000
XS 0otsHE 249Hl & 1,277,628 1,329,368 A51,740
= 638,814
=S 319,407
Al 319,407
307 @I2t01 & 1,277,628 1,329,368 A51,740
[ 638,814
= 319,407
Al 319,407
10 Al SXAZEE 22X 1,277,628 1,329,368 A51,740
OXSotsHE 22 K&
1,277,628,000& 1,277,628
[ 638,814
= 319,407
Al 319,407
AS0tSHE lAdl XA 6,354,300 5,461,256 893,044
[ 3,177,150
= 1,588,575
Al 1,588,575
307 el2to| & 6,354,300 5,461,256 893,044
[ 3,177,150
= 1,588,575
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 1,588,575
10 Al S XA EEHE2IHIE X 6,354,300 5,461,256 893,044
OXIE0otsHE 218 X
6,354,300,000& 6,354,300
= 3,177,150
& 1,588,575
Al 1,588,575
XEotsHE 29X (298l FIHRIE) 69,300 67,440 1,860
& 27,720
Al 41,580
307 QIZt01 A 69,300 67,440 1,860
= 27,720
Al 41,580
10 AISIS XA EEE2IHIE X 69,300 67,440 1,860
ONAOISHE SHTA(SHHI FIHXIA)
69,300,000 69,300
& 27,720
Al 41,580
XYEots4dE o2 2=52(sSH) XA 1,167,509 372,744 794,765
& 467,003
Al 700,506
307 QIZ2t01A 1,167,509 372,744 74,765
= 467,003
Al 700,506
10 AISISXAIEHE2ZHIER 1,167,509 372,744 794,765
OXIY0ISHH 22l 2E52(sSH) K&
1,167,509,000& 1,167,509
& 467,003
Al 700,506
E49E XNYG0tsHE FOHKIA 140,400 157,920 A17,520
= 70,200
& 35,100
Al 35,100
307 212+01™ 140,400 157,920 A17,520
s 70,200
= 35,100
Al 35,100
10 AISIS XA EEHE2IHIE X 140,400 157,920 A17,520
OE=8g XA0tSHE =K
600,000 * 1201 A+ 12 86,400
= 43,200
= 21,600
Al 21,600
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OER2Y XA0tsHE FIHAA
300,000 150 A% 123 54,000
2 27,000
[ 13,500
Al 13,500
NS0tsHE el X 14,200 14,600 A400
307 elztol & 14,200 14,600 2400
11 AMEISXAIEEES 14,200 14,600 2400
OXNSOtSHE eyl Xa
100,000 +710H %23 14,200
NS 0ISHE A2 23 2,300 3,700 A 1,400
201 et 3| 2,300 3,700 1,400
01 AtR2te|Hl 2,300 3,700 21,400
OFFANGOISHE AR H4+E
100,000 8 »23] 1,600
OXIOISHEl S0 A5 BaLY
100,000 7 & *13] 700
NSOtSHE 5|2 2E2 TR 7,760 9,700 21,940
307 gl2to| & 7,760 9,700 1,940
04 QIHHAMAIH 2 £ 7,760 9,700 21,940
OXS0tSHIE |22 LA
7,760,000 7,760
KGotsdE HZHAR 3,880 4,850 A970
307 lztol & 3,880 4,850 A970
04 QIZIHAIAIRH 2 & 3,880 4,850 A970
OXIHOISHIE SHEBHAIS
3,880,000& 3,880
NS OtSHE SAHA H+=X13 3,880 4,850 2970
307 el2to| & 3,880 4,850 2970
04 QIZHHAIAIH 2 £ 3,880 4,850 A970
OXSHOtSHE SAHAF A=K 2
3,880,000& 3,880
stiiuloiotseE =29 1,239,470 1,068,019 171,451
= 495,780
= 371,845
Al 371,845
307 @120l & 1,239,470 1,067,319 172,151
= 495,780
= 371,845
Al 371,845
05 212t =S 495,783 0 495,788
OSIHIIHOtSEE 2 A (200 )
495,788,000 495,788
= 198,312
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FA OtSES
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,092
0ARHEI N2ag
100,000 38 »33] 900
= 720
< 54
Al 126
olEYe S 257
10,0002 «200H 2,000
= 1,600
=S 120
Al 280
OES0ts HHEE 2l X2l
20,0002 8 x 162 2,560
= 2,048
s 154
Al 358
OAZNY W=H| 200,000 x8EH *22] 3,200
= 2,560
s 192
Al 448
O =2 M= 50,000 x15& 750
= 600
=S 45
Al 105
2 S52g4l 4,800 7,020 N2,220
OgRE 2l AE=
50,0002 =8LH* 122 4,800
= 3,840
== 288
Al 672
301 LEIE NS 24,160 14,370 9,790
= 19,328
== 1,450
Al 3,382
01 Al 2E A S(SRNEXMHE) 23,500 13,920 9,580
LAIESH] 30,0003 58 90! 13,500
= 10,800
= 810
Al 1,890
OEsHalts =23 7Yl
1,500,000 42 6,000
= 4,800
=S 360
Al 840




2A: OtsEs1
M Otz &, B8]
el OFsS=ADIg XY EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OMBIA o & Xg]
100,000 & *8H *53| 4,000
= 3,200
= 240
Al 560
11 HAAHIXIE S 660 450 210
©3l9 &AL Chtl
5,0002 x6% 143 420
= 336
= 25
Al 59
O3lo A g4l
20,0002 x6F 23| 240
= 192
& 15
Al 3
307 212+01™ 18,830 23,850 25,020
= 15,064
& 1,129
Al 2,637
01 22 & 35| 18,830 23,850 A5,020
OEslaols A& & AcIZAH]
430,000& x21H 9,030
= 7,224
= 541
Al 1,265
OEslaols alelaEl
70,000 =138+ 103 9,100
= 7,280
& 546
Al 1,274
O2sHaOls 2l =h| 100,000 *7Z 700
= 560
& 42
Al o]
OISESHEII|Z 2 (XX E2) 387,668 428,775 A41,107
308 AHXIHMSOIH 387,668 428,775 A41,107
07 RIXIEHHZ2tRE 2 387,668 428,775 A41,107
OltsEsdzI 29
387,668,000 387,668
OISESHIIIZ U+ (AXHM2EE2) 29,190 29,064 126
308 AXIEHMSOIN 29,190 29,064 126
07 X ESH2RE 2 29,190 29,064 126
OISEaH2I |2 HRLEH(23Y)
29,190,000& 29,190




SN OlSESD
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OISESEEI|2 HEARIME XS (HRSHA2ES 3,607 31,574 1,033
)
308 AXIHSOIA 32,607 31,574 1,033
07 HXHH2LRES 32,607 31,574 1,033
Oolts2sdE)2 HEaeldH X2
32,607,000 32,607
FHAAE OlsSEAEIA X2 309,500 344,298 AN34,798
[ 247,600
= 18,570
Al 43,330
201 er23| 251,710 256,909 N5, 199
[ 201,369
= 15,103
Al 35,238
01 At2teltl 57,418 60,368 2,950
OARESE(HIZ)7
400,000 %122 4,800
[ 3,840
= 288
Al 672
O=3+al 250,000 %12 3,000
[ 2,400
== 180
Al 420
OE2XN & 82= M=%
10,0002 *1,5000K 15,000
[ 12,000
= 900
Al 2,100
O+ M 50,0002 * 12 600
[ 480
= 36
Al 84
o7 L BERE XA XIRHI
200,000 %122 2,400
[ 1,920
= 144
Al 336
OLEAEE XA S2=EH|
8,0002 0 +5ed« 123 4,320
[ 3,457
= 259
Al 604
OCSEAHE HESIuSH|(ASLR)
400,000 ~9H 3,600




2A:

X Mg, 25

=l SXoletxy (Cte: M
=] X . CLO|( 5 = HANS }OH ST =3}
‘I‘kl * O-I_I * ;_'I"I(EID:") ° k”‘I‘AI'g p L= 01"&—| O:H&OH HIJ-Lo:l

OEEAEE AHENUS &It
300,000 & +6H

130,000 *9H

ol

OSEAEE #HUIOIM HR2Y

200,000& x2H 128

OxHHIA 23|

1,000,000&

Ox+HHI& =&

150,000 *3& *42]

O++HHIA Xt

A

MO

o
o
]
]

12,0002 * 12243 *43]

©
0
R
40
0
fon
4
0

g 150, 0003 9 Z +23]

150,000& x10E ~43]

OAtell2tel A28 ¢
150,000 x9& »23]

SAREY

=

= M

Mo

=

= M i

SARNEY

=

Mo

=

SRR = N3

=

SRR

=

SRR

2,880
216
504

1,800
1,440
108
252
1,170
937
70
163

4,800
3,840
288
672
1,000
800

140

1,800
1,440
108
252

1,728
1,382
103
243
2,700
2,160
162
378

6,000
4,800
360
840

2,700
2,160
162
378




2A: OlsE=1
. Ots &g, B=
&2: Ots=XD|etEy (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
02 B22ZH| 13,462 13,462 0
OSEHAAIAESX| 22|
1,222,000& 13| 1,222
rag 977
< 74
Al 171
o2 RA22Y] 900, 000! *3CH 2,700
hay 2,160
= 162
Al 378
OXsXEE 1,200,000& *3CH 3,600
hay 2,880
= 216
Al 504
OXNSXM(BANHEL S ZE)
200,000 *3CH 600
rag 480
= 36
Al 84
oOZEXE FFRY|
1,350& *60L*2CH*30&] 4,860
g 3,888
& 292
Al 680
OB MI|SHY|
5,000 %85| x 128 480
ras 384
o= 29
Al 67
03 HAIZHHI 180,830 183,079 N2,249
OSEEHAEIE T2 29
180,830,000& 180,830
s 144,664
& 10,850
Al 25,316
202 O4H| 5,520 5,520 0
g 4,416
& 331
Al 773
01 =ZLHM Y| 5,520 5,520 0
OCEEAEIEAIY M2 =LHMHI
30,0002 x9Y 122 3,240
g 2,592
& 194
Al 454




A Ots
g3 Ors 2lat, 25
el Oks

RN - I BRA(E) - HRA - BES of v A

380,000&+6Y 2,280
1,824
137
319

SRR

=

301 LENZ 6,270 5,071
5,015
376
879

SRR

=

11 HAIMHIXI RS 6,270 5,071

8,000 »500H 4,000
3,200
240
560

SRR

=

oxZ=zH™

He
02
>
oy
[=)
e
¥
1z
o

3,000 500 1,500
1,200

SRR

=

210
O+HHIH

fon
10
v
Jx
=
il
Jz
==

8,000 x32 *43] %

o
3

=
=

O#IbIE 3

1o
]
Jx
>
¥
1z
[==

3,000 +32H*43]

R
oon B8

=

©
Ho
09
0
10
on
fon
10
01
X
>
I
s
==

8,000& 9 +22 144
115

SRR

>
8

©
M0
02
10
o
to
[
1o

i

x
b=

2FAIH|

=

3,000 9 *22]

N
®» w & L

=

8,000 * 102 *42] 320
256

SRR




2A:

X XH -
o=

=aak sA0lgrxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A2 BIAFAL 2]
3,000& *10& »43] 120
= %
< 7
Al 17
307 elzto| & 46,000 42,000 4,000
= 36,800
& 2,760
Al 6,440
0122 & 3=l 46,000 42,000 4,000
O2l=H|, &, SLH XN S
46,000,000 46,000
= 36,800
< 2,760
Al 6,440
orss=A2 24 N 287,329 314,667 N27,338
307 elztol & 287,329 314,667 N27,338
05 21t S 287,329 314,667 N27,338
oots=A2 29 287,329,000 287,329
OrsSXI WAL KNI 700 700
201 er=2 3| 700 700
01 AtR2t2|HI 700 700
OOIS=AI WA HEHat IS 700
OZA= 470,000 12 470
(@=Ii= 120,000 120
Osl+=2 M& 110,000 *1H 110
NEOtSHE 215 - 2AES 25,000 0 25,000
= 10,000
Al 15,000
307 @I2t01 & 25,000 0 25,000
== 10,000
Al 15,000
10 Al2ISTIAIEEE 22X 25,000 0 25,000
OXIS0ISHE 215, 2A=8 AlBAI
500,000& x50 2100 2 25,000
= 10,000
Al 15,000
259 349 &3t 283,316,856 258,631,755 24,685,101
= 154,032,429
s 126,950
s 90,454,972
Al 38,702,505
2250 (got=g) X 80,550, 133 47,247,861 33,302,272




2N OISES
o ols d3, 2]
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 60,412,600
= 14,096,273
Al 6,041,260
301 LerE X3 80,550, 133 47,247,861 33,302,272
= 60,412,600
== 14,096,273
Al 6,041,260
01 ALBI2EEAH2(2DEETR) 80,550, 133 47,247,861 33,302,272
ORZS0(Hor+g) XA (9,744%)
80,550, 133,000 80,550, 133
=2 60,412,600
== 14,096,273
Al 6,041,260
ARUIEEZ XA (3D) 72,859,544 82,972,684 10,113,140
2 54,644,658
== 12,750,420
Al 5,464,466
301 YBEAZ 72,859,544 82,972,684 210,113,140
= 54,644,658
= 12,750,420
Al 5,464,466
01 ARRIZEHAHZ(2DEZTHE) 72,859,544 82,972,684 10,113,140
OYROIESZ XA (10,687)
72,859,544,000 72,859,544
= 54,644,658
= 12,750,420
Al 5,464,466
FelutE 2SI (=) 38,370,270 44,019,476 N5,649,206
== 38,370,270
301 LEtEXZ 32,952,960 35,529,5% 2,576,636
= 32,952,960
2 NS EEHLHS(HAAHS, NYWR) 32,952,960 35,529,5% 2,576,636
OS2 2 MRINAHI(9,94%/0t= 9,137,
WAF 722H)) 32,952,960,000%! 32,952,960
= 32,952,960
307 QI2H0I & 5,417,310 8,489,880 A3,072,570
= 5,417,310
11 AFBI S XA 2 X 5,417,310 8,489,830 /3,072,570
OF2IIE SHHI(9,1372)
5,417,310,0002 5,417,310
== 5,417,310
SE 282 NA(SH) 3,000 7,000 24,000
== 2,400
Al 600




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 3,000 7,000 24,000
= 2,400
Al 600
02 ARSI 2 XSG (FHAAHS, NLWE) 3,000 7,000 24,000
ognE Exx XA(24) 3,000,000& 3,000
= 2,400
Al 600
oIy XHHE=S XA (KA 5,173,476 6,310,428 1,136,952
308 AXIHMSO0IA 5,173,476 6,310,428 1,136,952
13 SI[2S0He A AS A 5,173,476 6,310,428 1,136,952
O3AMl E=8 XX
103,000& *1,549E « 12 1,914,564
O4-5KH 28T RUX
83,0002 +3, 2728 123 3,258,912
Oielold DloISotsgd = 2,398,640 4,235,377 1,836,737
= 1,798,980
= 419,762
Al 179,898
301 EtE N = 2,398,640 4,235,377 1,836,737
= 1,798,980
< 419,762
Al 179,898
01 A2 HSHS(RRNEERTH) 2,398,640 4,235,377 1,836,737
OJIE2F=E(2,0119) 2,398,640,000& 2,398,640
= 1,798,980
< 419,762
Al 179,898
SSDAA oAHl X&(22) 34,661,666 31,045,001 3,616,665
= 20,797,000
< 9,705,266
Al 4,159,400
301 2eEN= 324,000 342,000 18,000
= 194,000
=S 91,000
Al 39,000
01 Al EE AL S(FREXMH) 324,000 342,000 18,000
OFMHE RO EFSWAL L EWA =F
300,000 «0H 122 324,000
= 194,000
= 91,000
Al 39,000
307 212+01& 34,337,666 30,703,001 3,634,665
= 20,603,000




2A:
X XH -
o e

=aak

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

9,614,266
4,120,400

11 MEI=SXIAEEE
OOEI0IE ZAMK Q24| XI&(1,3409)

34,337,666,000&

34,337,666

34,337,666
20,603,000
9,614,266
4,120,400

30,703,001

3,634,665

HI
o
e

A4l XI& (XEAl)

48,624

46,532

2,092

ro| 2

s

w
o

10
S| B

2

48,624

46,532

2,092

=
ton
b
=

ol e

2
=
=

O24AIZHHEI0IE Zel@ lHHI(FL0IR

48,624

24,312

24,312

46,532

2,092

XA XI2(=21)

Mo

=

2,316,193
1,389,716
648,534
277,943

2,130,792

185,401

307 212t01&

Mo

=

2,316,193
1,389,716
648,534
277,943

2,130,792

185,401

11 ARRIS XA E X

OUM A XI& 2,316,193,000&

hoH

=

2,316,193
2,316,193
1,389,716
648,534
217,943

2,130,792

185,401

020l EXWAL XA

hoH

=

13,164,599
7,898,759
3,686,088
1,579,752

11,500,000

1,664,599

307 212t01™

hoH

=

13,164,599
7,898,759
3,686,088
1,579,752

11,500,000

1,664,599

. SIEF T AH499Y)
13, 164,599,000

hoH

13,164,599

13,164,599
7,898,759
3,686,088
1,579,752

11,500,000

1,664,599

WA SSEZ &l K&

H

8,278,333
4,967,000

7,715,000

563,333
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SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oEsIAA M2 (4,0672)
3,560,523,000& 3,550,523
= 1,420,209
Al 2,130,314
SKA HMHAHl SH X2 (XA 3,762,000 4,158,000 396,000
301 Eet2 NS 3,762,000 4,158,000 396,000
02 ANRI2HHSHS(HAAS, NLHE) 3,762,000 4,158,000 A.3%6,000
OEFWAI MMHH(s& XY)
60,0002 «050H 122 684,000
OSESWA HLNAHI(S XH)
90,000& %2,850F < 12 3,078,000
ESWAY ARLAZR4E X3 (ZH]) 827,257 827,257 0
= 330,904
Al 496,353
301 EetE NS 827,257 827,257 0
== 330,904
Al 496,353
02 ARSI 2E AT S(FANS, XLETHE) 827,257 827,257 0
OSSN ASIDILEY(3,472)
827,257 ,000& 827,257
= 330,904
Al 496,353
O{glold Otol=(2]) =<0l XA (<HI) 975,840 950,304 25,536
= 292,752
Al 683,088
307 @120l & 975,840 950,304 25,536
s 292,752
Al 683,088
11 AMRISXAEEES 975,840 950,304 25,536
OO0 = (E2])R0I(760H )
975,840,000 975,840
S 292,752
Al 683,088
WD X&(22) 381,667 356,667 25,000
= 229,000
< 106,867
Al 45,800
307 glztol & 381,667 356,667 25,000
= 229,000
== 106,867
Al 45,800
11 AMEISXAEEES 381,667 366,667 25,000
O HW T HI (41404 A) 381,667,000 381,667
= 229,000




SN OlSESD
33: Ot e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 106,867
Al 45,800
xg2gHl X#(21) 367,450 383,333 ~15,883
= 220,470
< 102,886
Al 44,094
307 lztol & 367,450 383,333 15,883
= 220,470
== 102,886
Al 44,094
11 AMRISXAEEES 367,450 383,333 15,883
OXt&-2HHI(1530H) 367,450,000 367,450
= 220,470
=S 102,886
Al 44,094
ZOHOIE 2 020l 2 A lAHI(<HI) 98,928 96,528 2,400
< 49,464
Al 49,464
307 glztol & 98,928 9,528 2,400
= 49,464
Al 49,464
11 AMEISXAIEEES 98,928 96,528 2,400
OZ OOt Z20E01E 2HJ 11|
2,061,000& x4 2+ 122 98,928
= 49,464
Al 49,464
S geol ooy Xrged Xd 72,000 62,400 9,600
[ 28,800
Al 43,200
307 glztol & 72,000 62,400 9,600
= 28,800
Al 43,200
1 AMEISXAEEXS 72,000 62,400 9,600
OS¢ gel oeold z2d A
400,000 * 1574 Axx 122 72,000
S 28,800
Al 43,200
sSHEATHEI0I0IEXA(21) 76,667 80,000 A3,333
= 46,000
= 21,467
Al 9,200
307 @20l & 76,667 80,000 A3,333
= 46,000




SN OISES3
zo: 01 &3, 28
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 21,467
Al 9,200
11 Bl S TIA B E 76,667 80,000 13,333
OS0IEATH HOI0{Z2I01E X2 (2944)
76,667,002 76,667
2 46,000
= 21,467
Al 9,200
& S FUKY SNV 12| X 84,850 267,688 A182,838
= 33,940
Al 50,910
307 BI2H0IH 84,850 267,688 A 182,838
< 33,940
Al 50,910
11 ABI=TA B E 84,850 267,688 A182,838
©F2F S HOI0RI0IF QI12AH| X2 (39N
&) 84,850,000 84,850
= 33,940
Al 50,910
O12101& FH AR 2I24H| K12 (XHAI) 528,000 775,200 A247,200
307 I240IH 528,000 775,200 A247,200
11 ABI S TIA B E 528,000 775,200 247,200
OORI0IT FAR 212t
200, 0002142207 A+ 122 528,000
CHHI T2 2 (I ALS) T2 (RHA) 164,000 169, 160 4,840
307 BI2H0IH 164,000 160, 160 4,840
11 AEI=STA S E 164,000 169, 160 4,840
OUHHZ2I A (FAR) X2 (62)
164,000, 0002 164,000
S ENEELESEREIE) 9,90 145,428 A135,438
= 3,9%
Al 5,904
307 2I2¢0IH 9,90 45,428 A135,438
= 3,9%
Al 5,994
11 ABI=TIA B E 9,90 145,428 A135,438
OORI0IF HHHIZ2IR X2 (1002)
9,990, 0002 9,90
= 3,9%
Al 5,904
S ENEREEEEERE 59,628 59,628 0
= 23,851
Al 3,777
307 2I240IH 59,628 59,628 0




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 23,851
Al 36,777
11 AMEISXAEEES 59,628 59,628 0
O0lglold AXBHz SH=Z(23,8519)
59,628,000& 59,628
= 23,851
Al 35,777
Oeloly 3J1¥8J| 224l XI&(<Hl) 326,380 362,644 136,264
== 97,914
Al 228,466
307 212+01& 326,380 362,644 N36,264
< 97,914
Al 228,466
11 AMEISXAEEE 326,380 362,644 N\36,264
OO0l SI18EI| 23HI(2,4730H)TH)
326,380,000& 326,380
= 97,914
Al 228,466
Ogl0ld s0lAE B H2 X3 (KHA) 12,000 15,000 3,000
307 @120l & 12,000 15,000 A3,000
11 AMISXAIEEX 12,000 15,000 23,000
O02l0ld =0IAE HHBHr+Z
300,000 4004 A 12,000
ARHES XI2(21) 760,000 688,000 72,000
= 456,000
== 212,800
Al 91,200
307 212+01& 760,000 688,000 72,000
= 456,000
S 212,800
Al 91,200
1 AMISXAIEEXS 760,000 688,000 72,000
OARINES X (15JH8)
760,000,000 760,000
= 456,000
= 212,800
Al 91,200
AREMES X (KA 380,022 373,990 6,032
307 212+01™ 380,022 371,490 8,532
11 AMRISXAEEES 380,022 371,490 8,532
OAIZIHES B2 XIA(F2)
3,000 *200A1 2H+50H« 123 36,000
OAZHES B85 X (0F2)
3,000 *20AI 2++40x 123 2,880
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SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OElold 22 ZUHEH 22(=21) 34,492 34,492 0
= 17,246
== 8,623
Al 8,623
307 212+01& 34,492 34,492 0
= 17,246
=S 8,623
Al 8,623
11 AMISXAIEEX 34,492 34,492 0
ORZ2Z2LIHEH 2 34,492,000 34,492
= 17,246
= 8,623
Al 8,623
FHZUHHAE 2S(XHA) 306,760 316,375 N9,615
201 et 3| 15,000 21,375 N\6,375
01 At22t2l] 15,000 21,375 26,375
ozu F(F, 43, UH
5,000,000 *37H 2= 15,000
307 elztol & 291,760 295,000 23,240
05 21t S 291,760 295,000 A3,240
OYHZBUNHMH 24
145,880,000 #20H 2 291,760
Ogloly JIsE2(=21) 253,900 246,404 7,49%6
[ 126,950
= 63,475
Al 63,475
402 2IZtA=01d 253,900 246,404 7,4%
= 126,950
S 63,475
Al 63,475
02 QI X2 AL EE(0IHTHE) 253,900 246,404 7,4%
O&HlHl 2,000,000 67K 2~ 12,000
= 6,000
[ 3,000
Al 3,000
O 0HOLEHIYI 3,000,000& 174 2 3,000
= 1,500
S 750
Al 750
OMH=2= 238,900,000 238,900
= 119,450
< 89,725
Al 59,725




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEl0l& JHEAr (XHAD) 60,000 90,000 230,000
402 DIZHRHR0| 60,000 90,000 A30,000
01 PIIX2AIZ 2 X (KT 60,000 9,000 30,000
O0lRI0IY D5
20,000,000 *30H 2 60,000
o2lold EsA 660,000 868,974 A208,974
= 330,000
= 165,000
Al 165,000
201 eer23| 33,000 16,500 16,500
= 16,500
& 8,250
Al 8,250
01 At2teltl 33,000 16,500 16,500
OAI7F 2TBYOIRIOIT ORO0IFST =0l
aM =5 500,000 *6IH A 3,000
= 1,500
< 750
Al 750
OZEEI0IMA T
800,000 *6IH A 4,800
= 2,400
= 1,200
Al 1,200
OuHu-7 2,000,000 *6IH 2= 12,000
= 6,000
& 3,000
Al 3,000
o=g4E35+Y 2,200,000 64 2 13,200
= 6,600
< 3,300
Al 3,300
401 Al HIZ S 0HbI 477,000 213,500 263,500
= 238,500
< 119,250
Al 119,250
01 Al&H| 477,000 213,500 263,500
Ol ZSEE0IE & XI(250m = D~450m'
oret) 79,500,000 *6IH 2 477,000
= 238,500
[ 119,250
Al 119,250
405 AHatE = 150,000 75,000 75,000
= 75,000




SN OlSESD
g Ot det, 25
=@t E52o 234 Y&t EER
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 37,500
Al 37,500
01 AL =S F = 150,000 75,000 75,000
Ot =SE00lE JIXHHYI
25,000,000 *6IH 2 150,000
= 75,000
< 37,500
Al 37,500
S3E0201E JIs2d X& 18,000 33,000 A15,000
307 elzto| & 18,000 33,000 215,000
11 AMEISXAIEEXS 18,000 33,000 15,000
OS3E0R0IE JIs:2d
3,000,000 *6IH 2= 18,000
B30 SSEXNA(HEAY) 3,188,784 3,129,619 59,165
== 2,806,130
Al 382,654
307 212+01& 3,188,784 3,129,619 59,165
< 2,806,130
Al 382,654
11 AMEISXAEEE 3,188,784 3,129,619 59,165
O33EE0IE 2 (7200x)
3,188,784,000& 3,188,784
= 2,806,130
Al 382,654
S3ENE0Id 2Ll XA (=) 51,000 27,000 24,000
== 20,400
Al 30,600
307 212+01& 51,000 27,000 24,000
== 20,400
Al 30,600
11 AMEISXIAEEES 51,000 27,000 24,000
OSSE0el0lE 2tZHat|
3,000,000 * 1790 2 51,000
= 20,400
Al 30,600
S3E0e0IE 23| X (XHAl) 117,600 124,236 6,636
307 @I2to1 & 117,600 124,236 6,636
11 AMISXAIEEX 117,600 124,236 26,636
O3s3808l0ld =otet 24| A&
7,0003%1,400F ~12& 117,600
S3SUHE0IE 2SR (XEA) 78,000 187,000 109,000
307 lztol & 78,000 187,000 109,000
11 AMEISXAEEES 78,000 187,000 109,000




SN OlSESD

33: Ots e, 25

el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

O03301el01E =A-Hl X3
1,000,000 *789H 2~ 78,000

Tl 2o HEE(E AIZATE) 0121018 2| XIA( 165,300 185,100 19,800
XHH)

307 @I2t0| & 165,300 185,100 19,800
11 AMISXAIEEX 165,300 185,100 219,800
OO0rHAE OEl0lE sl X

100,000 * 1351 26 81,000
O24A1 2t 2101 Y dited| X3
150,000 *30H A 62 2,700
O24A2+012101E ORIES WA S4H| XA
16,0002 «8EH 252 x 12 38,400
O24A2+012I01E ORIES WAL Q12AH| XA
450,000 ~8H 122 43,200
Al S0l X1 (XEA) 82,000 80,000 2,000

307 lztol & 82,000 80,000 2,000
11 ABI= XA 2 X 82,000 80,000 2,000
OAl7 HRIORI0IE X8

2,000,000 *410H 2 82,000
Oglold detetsl I (XHA) 278,900 283,100 A4,200
307 @120l & 278,900 283,100 A4,200
11 AMISXAIEEXE 278,900 283,100 A4,200
OO0{2l0lE Hiterd| (202! 015t
400,000 x28971 2=+ 13 115,600

Oo0lglold dtetd| (2121 014k 50e1 013t)
500,000 1461 2=+ 13 73,000

OOZI0IF WLEHI(519! 014 9991 015}
600, 0002 x98 A+ 13 58,800

OO0{2l0ly Wihatd (1002 0l4t)
700,0003 450 A+12] 31,500

ZOHots 2stMEH! XI&(XHA) 25,650 36,000 10,350

307 glztol & 25,650 36,000 210,350
11 AMEISXAEEE 25,650 36,000 10,350
OFOHOls 2aMIEHI(5HA)

150,000& %171 25,650

E5E Oelold SSEEMY = 20,000 0 20,000
= 8,000
Al 12,000

307 @120l & 20,000 0 20,000
== 8,000
Al 12,000

11 AMRISXAEEES 20,000 0 20,000

OE=d SSg5AE olelold X2

1,000,000& 2000 2= 20,000
= 8,000
Al 12,000




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oelold 24 & He 5,259,360 0 5,259,360
= 2,103,744
Al 3,155,616
307 el2to| & 5,259,360 0 5,259,360
= 2,103,744
Al 3,155,616
1 AMISXAIEEXS 5,259,360 0 5,259,360
O0elolE SA & id
1,000 21,9143 240 5,259,360
== 2,103,744
Al 3,155,616
AH2IBHI(OtSESL) 2,023,665 2,502,273 478,608
= 347,152
s 482,009
== 165,216
Al 1,029,288
el 23 1,955,067 2,410,861 A455, 74
= 347,152
[ 482,009
== 165,216
Al 960,690
OlSSXI WAL THAXIR (KA S XA 53,358 99,095 N5, 737
= 14,614
[ 7,307
Al 31,437
101 @124H| 48,510 89,735 N41,225
s 12,366
s 6,183
Al 29,961
03 SR (RIH )22+ 48,510 89,735 N41,225
OXIGAZIZ XA B=(19)
48,510,000 48,510
= 12,366
=S 6,183
Al 29,961
WM HSEE=S 4,848 9,360 A4,512
= 2,248
= 1,124
Al 1,476
M BRA(RIAHSL) 22N BEERE=s S 4,848 9,360 AN4,512
OXIGARI =S XA BEE J|2RE=S
4,848,000 4,848
= 2,248
= 1,124




SN OS2SR
M HARAZH|(OtSESDH)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 1,476
OlSSEXIWAL IHAXIR (ML H/SAIRE) 915,197 1,349,557 A434,360
[ 227,808
= 113,804
Al 573,485
101 @1A4H| 827,855 1,262,415 AN434,560
[ 221,088
= 110,544
Al 496,223
03 SRH(RINAHA) 222+ 827,855 1,262,415 A434,560
OOIS=SXWAHTLHI/SHAIRE) 2=(562)
827,855,000 827,855
[ 221,088
= 110,544
Al 496,223
4 HSRESS 87,342 87,142 200
[ 6,720
= 3,360
Al 77,262
4 SR (RIHA)22N BEERES S 87,342 87,142 200
OOtSSRWAHXLM/SAIRY) 282 J|2t
fH= 87,342,000& 87,342
= 6,720
& 3,360
Al 77,262
FHUNE OtSSEMUIA X (RIIHAZZI) 504,107 524,107 /20,000
= 239,587
< 17,969
Al 246,551
101 @124H| 461,987 490,818 /28,831
= 205,891
== 16,442
Al 240,654
03 SRA(RIH L) 222+ 461,987 490,818 /28,831
OOtSSEALIZCIAL 2124H|
461,987,000 461,987
= 205,891
== 15,442
Al 240,654
04 HSRESS 42,120 33,289 8,831
s 33,696
== 2,521
Al 5,897
M BRA(RIHS) 22N BEE2RE=s S 42,120 33,289 8,831




SN OS2SR
M HARAZH|(OtSESDH)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB (2N 2EN PER 2Ry
= 42,120,000& 42,120
= 33,696
< 2,521
Al 5,897
Ols2sdged o12dl X (LIIM) 433,940 423,800 10,140
= 347,152
[ 26,036
Al 60,752
101 @124H| 427,115 416,975 10,140
= 341,695
s 25,628
Al 59,792
01 2= 23,888 21,158 2,730
(OFS= LB 23,883,000 23,888
= 19,105
= 1,438
Al 3,345
02 JIEtA == 403,227 395,817 7,410
OpJ== 2,005,000& x13F 128 326,820
= 261,452
= 19,608
Al 45,760
=g 27,400
OIH28 =g 6,000
BN} 40,0002 x62* 122 2,880
= 2,300
[ 172
Al 408
XM AHA 20,0002 x4 =123 960
= 765
[ 58
Al 137
=Mt 60,0002 x3& 123 2,160
= 1,726
& 129
Al 305
Ot 282+ 5,445,000& 5,445
= 4,362
< 324
Al 759
OS=Atsg 15,955,000 15,955
= 12,760




SN OS2SR
M HARAZH|(OtSESDH)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 958
Al 2,237
OZNU=AHI 140,000 x 13 * 122 21,840
= 17,468
< 1,309
Al 3,063
Ot &I 5,066,000& 5,066
= 4,049
== 304
Al 713
OEEZ (1Y, 3I12Y) 8,284,000& 8,284
= 6,661
< 498
Al 1,125
(OFSIRSE= 13,817,000& 13,817
= 11,047
& 830
Al 1,940
204 ARt AH| 6.825 6.825 0
= 5,457
< 408
Al 960
2 SELR3H| 6.825 6,825 0
otfel syl 6.,825,000& 6,825
= 5,457
s 408
Al 960
el 14,189 14,302 A113
101 @124H| 14,189 14,302 A113
02 JIEtM = 14,189 14,302 A113
OLEAIIM(1Y) 14,189
OAlIZRIZR+E
11,3192+67 A1 2+ 123 9,101
OoRt2R+E 3, 7733 *8AI 2H+60L 1,812
OFg=2e=g 90,9853+ 3,276
KNS 0otsdE XIHARIS XA Q124H] XI& 32,856 32,856
101 @124H| 32,856 32,856
03 SR (RINHA) 222+ 32,85 32,85
oJlE=s(U=) 2,033,460~ 12& 24,402
O=g 8,454
Og&E=Itd| 610,030 %23 1,221
Od A ZAMH| 140,000« 12& 1,680
Ogel=g 50,000& * 122 600




SN OIS
M. Y 2AHFHI(OISEF1)
el QIEE2E ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Os+eeay 50,0002+ 122 600
OAlIZtel=E 14,0202 x75A1 2t 1,052
O&2+42(0I2A12})
14,020 *120A| 2t 1,683
OS2 4| 74,8003 x 12! 898
OJEsY 720
B 40,0002 128 480
e 20,000& *12& 240
NE0ots4E AtSISXIAL =LHOH] XI& 1,420 0 1,420
202 0441 1,420 1,420
01 =2LHO4 ] 1,420 1,420
OXIS0otsHEH XISALSI=XAF S LI HI
20,0002 +713] 1,420
f=pls]l 68,598 91,412 AP2,814
J|1E23&| 68,598 91,412 A22,814
201 B2 AY| 36,618 43,112 NG,494
01 At=R2teld| 36,618 43,112 N6,494
OJl2gRa#BY(J1EZ])
450, 0003 34 *90% 13,770
O=HI(01=&dl)
8,000& 3B +7U*12& 22,848
202 0idl 24,480 40,800 A16,320
01 =WO4bI 24,480 40,800 216,320
O=UoigI(O1=ZHll)
20,0003 *34H x32 « 12 24,480
203 YR =&IH| 7,500 7,500
M EM2EHRFA| 7,500 7,500
O©J1=ZH| 7,500
O302! Olat 400,000+ 128 4,800
03021 =1t 5,0002 x5 123 2,700
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2A:

. ANUAH2SH
TPl QIMAE MESH L OHE 3 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 206,500
Al 826,000
05 2ItRIE = 2,065,000 2,065,000 0
OolglolsAl2elXgdH 2 (4SAHE)
700,000,000 * 100 2 700,000
= 360,000
< 70,000
Al 280,000
oolglolsAl2elXgdH 28(898d)
735,000,000 * 100 2 735,000
= 367,500
& 73,500
Al 294,000
OO0{gl0l=SAl 22 XYHYH 2 (AR2NE)
630,000,000 * 190 £ 630,000
= 315,000
= 63,000
Al 252,000
ARlSXIEa 2 AEdH X - =29 300,000 200,000 100,000
= 150,000
Al 150,000
307 @120l & 300,000 200,000 100,000
= 150,000
Al 150,000
05 2IR”tRIE = 300,000 200,000 100,000
OAtzI=XsA 22l NZHE 22
300,000,000 300,000
= 150,000
Al 150,000
AESS 0 11,885 13,206 1,320
201 er23| 11,885 13,206 1,320
01 AtR2t2|HI 11,885 13,205 1,320
OMES (Y L Z2AH Ad 222 11,885
Og=% 70,0003 x 1974 90% 1,197
Os=E= 5002 23, 75001 *90% 10,688
AE A 2e| 4,500 4,750 A250
201 er23| 4,500 4,750 A250
01 At2teltl 4,500 4,750 A250
OASMEIISY A 2e QIAMA S
2003 *9500Hx55 00k 855
OAMSHMZH o= S
10, 000 *4055+90% 3,645
LESAE AIEHE K2 A 140,000 200,000 260,000
307 lztol & 140,000 200,000 260,000
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A ALY AL
Hu: AZS M
Rl OIMAIE g & ZAIES L5 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,402
Al 10,402
201 er23| 6,284 6,284 0
= 3,142
Al 3,142
2 s5=34l 6,284 6,284 0
OSEFENFHI(HER) AIE23
6,284,000& 6,284
= 3,142
Al 3,142
202 04| 11,936 1,796 140
= 5,968
Al 5,968
01 SLHoIH 11,936 11,796 140
OGNS SYUCHE o BT Ol
11,936,000& 11,936
= 5,968
Al 5,968
206 M=l 2,584 2,584 0
= 1,292
Al 1,292
01 M= HI 2,584 2,584 0
OAE =1 SA 6,460 x40021 2,584
= 1,292
Al 1,292
OIZ2AI(AILION) ZAIEH 28] 6,000 6,000 0
= 3,000
Al 3,000
301 eEtE N = 6,000 6,000 0
= 3,000
Al 3,000
14 JIEt2a3 6,000 6,000 0
OO ZAI(AILIO)ZAIH &SH
50,0002 x 12+ 102 6,000
= 3,000
Al 3,000
220 IsAE 2el 8,320 9,520 21,200
= 4,160
Al 4,160
202 04t 1,320 2,100 AT80
= 660
Al 660
01 2L A 1,320 2,100 AT80




A ALY AL
Hu: AZS M
Rl OIMAIE g & ZAIES L5 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIIsAS XN=8d & =71 (dl
1,320,000& 1,320
= 660
Al 660
206 M=l 7,000 7,420 A420
= 3,500
Al 3,500
01 MHZHI 7,000 7,420 A420
OAYIISAE =K ZAF
140,000 +5021 7,000
= 3,500
Al 3,500
RS NS otd A 400 400 0
= 200
Al 200
206 M=l 400 400 0
= 200
Al 200
01 M= HI 400 400 0
ORE ==tt= At 20,0002 *105+23] 400
= 200
Al 200
FUEZ e 2e| 4,000 4,000 0
= 2,000
Al 2,000
FUsS crd 2| JI2t25t 4,000 4,000 0
= 2,000
Al 2,000
AUES 2l 4,000 4,000 0
= 2,000
Al 2,000
202 04| 2,500 2,500 0
= 1,250
Al 1,250
01 =LHOHI 2,500 2,500 0
oFdEs N 34
20,0002 x 12 %1252 2,500
= 1,250
Al 1,250
206 M=Hl 1,500 1,500 0
= 750
Al 750
01 MHZH| 1,500 1,500 0
OAYES =1 SA 20,000& 7521 1,500
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M QMEE OIED
ol SMRE obEBHR| J|EK2El (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 750
Al 750
LSS ZHI(AEZH) 39,206 39,284 AT8
=238l 39,206 39,284 AT8
JI23Hl 39,206 39,284 AT8
201 et 3| 14,586 16,484 1,898
01 At22t2l] 14,586 16,484 1,898
OJl=gR=+daSHI(O1=3H])
450,000 13 5,850
O=gHI(01=2HI)
8,000 x 132 +72x 12 8,736
202 048l 16,520 19,800 A4,280
01 2L AL 4,320 7,200 2,880
O=U08I 20,0002 «62H 32 * 12 4,320
02 XN 11,200 12,600 21,400
OZ A 04| 200,000 7 H+8Z 11,200
203 HR=H] 3,000 3,000
M EA2ER=A 3,000 3,000
O©JIEAU(1521015t) 250,000& 122 3,000
405 KHoHF S| 6,100 0 6,100
01 ML ESFSHI 6,100 0 6,100

SALI 5,500,000 ~1CH 5,500
OARE2XHARXL) 300, 000& *2H 600




